
�

�

����������	
�	���
���	

��
��	

��
����	�������	�	�����������	�	�����	
�������	
��	��������	��	����������	

�

�����	 	!""#	 	 	 	 	 	 	 	 ��$%�	�&!'(!""#	
�

�����	
�

)�*+	�,����+	��	�+�-�	-�	
�



�����	
�	�.����������	
�	���
���	
�


�%��)����	 	�������	
��
��������
��������
�
��������	������	
��
���
�

�)��������	 	������	��

�����	
���
�

)+�%�����	��	%�*���*�	)�+�
�

���������	
	��
�

��	/0	��1�2,+�	!""#	
�

��*1��*3	-�1���))�2���%	�*��*+	-�%	)�����������%	-�	
�.�������	4��	)�����+��

�

��$%�	-�+����	)�+	���%��*+	����++5	�
��
����	
�

6��7	 	
�

���%��*+	�8	������� � � �������
��

�

���%��*+	68�8	��������� � ����	���
�	
���%��*+	98	���
6
�4�� � ����	���
��

�

���%��*+	:8	
��
�	 	 	 �����
���
�	
���%��*+	48	6��9
	 	 	 �����
���
�	
���%��*+	�8	��
������	 	 �����
���
�	
���%��*+	�8	�
��
����	 	 �����
���
��

���%��*+	�8	������
�	 	 �����
���
��



�

�



�

�

Remerciements 
�

�

�����������������������
����������
�������� ���
��������!"
������������#��	$�����
����
�

��� �!%
����
��������&���&���
��	��

�����	
�������
��� ���'���		
���� (%)�)�)�)')*�� ����$��

���� '	
���
�� ������+,���� -"%##�.� �
��� ���� �	
� �
������
�� '	
���
�� /���
�

0/����#�',)�

�

1�� ��������� '	
���
�� ��� ��	�����
�� 0��
���� 1��2��� ����	
��3��� ��� �4��
����

���/���� �	
�� �4��	��� ���
������ (��� $����� ���$��� ���� ��5
���
��*� ��
�� �	
� ��
���� ���

���&���&�)�

�

'��������&����6�'�.�7%�����
��������$���������&5��������
���4��������4&	

�
��������

�
��������
��������8�����)�1���
���&�
��
���4��	����
�������������������	���)�

�

1!�������� ��� ��	�	
��� ���	

�����
��� ��'	
���
�� -�	�$��� /#9"%��� ��	�����
�� ��

�4"
�������������������'������
��������/�% �:���������������4&	

�
�����������������;
�6����

�������&5��)�

�

1�����������'	
���
��2	
�	�&�'/�71�"0%����	�����
�����4"
��������������

���%��

���'	
���
��1��
+'���� #/��"����� ��	�����
�� �� �4

��������� ���'��
��� #��<������� �	
��

��	��������������;
$������������������4���
��������=�&���������	���
�)�

�

1�� ���
�� �� ���	����� ������ ����������
���� /���
�'/7�#/%.��� �	���
���
$�
��
�� �
�

���
��������	�������/7%/##�����'	
���
��������>�7"'�.���
$�
��
���
����
��
��.� ����
���

�
��'�������<�.����
$�
��
��������&���&���
��.� ��
�����������
���
�;
�6�����������&5��)�

�

'�������<�
��
��#/��/,����0��
������. �/.�%.��	
�� ���;	
�
��� ������
��� ��

�/7%/##)�'������������/�./"7��	
���������
�����
����/������'�����
�����"-%������

�/ ��%-./"��	
������
	�3��
�������������	
����������������(��	���	
���*����	���)�

�

'����� �� ��������� #���,� ��� .���
�� /,'/�7� �	
�� ��
�� 3	

�� &
��
�� ��� ��
���

���	���)�

�

1������������	
��	��5$
�����3
���
���$�����/.�/#/����;���	
��������������5��3	
��

�	
��
����(��
�����
����
�������
������?�@+*�*����������	����

���)�'������4��	�����������������

������� ��� �
���
�� ��� ������ ��� ��� �������	
)� �4���� ��� ��
� �
� 3
���
� ���� A������� �����

�	
��	��B)�1���	
&�����3	

���&�
�����;
���
�	
�A�;	;	�B)�

�

0	
��	
��$�����	
����
���
���
���
������������
$
6��'��>�C�������

�������&������)�

�

<��

�
����������������������
��;��
4	
3�����������0�
��-
�
	��D�

�����������
����)�

'����� �	
������ 
	�3��
�� ������ ����	��
��� ��� ����
���� E���	
��

��?�'����� �� 0������� �	
�

��������4��3��
�	
���
���&�)�

�

14��3������#�
����
���4�� �
��	���� ��
��
�� ���� 3	
�� ��� ������
������	��
���� 
	
��

��	
���
��	
��
�����
���&5���)�

�



�

�

�
��
��;�����������������
��5����
���	
��5����;���
�����	�	
����
�����	

�����
��������

�	
���
����
4��� �4���	���� ���
��� �	
;	
��� ��� ��� ��� $�
��	����� �	
�� ��� �� ����� ���
��)�'�����

�$�����
��������F
���	
���	
��	
���
)�9
���������
�5������
������	��
����������������5��)�



 	������� �

�

�

�

���������



 	������� �

�

�

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	

	



 	������� �

�

�

����

����
�	��������8888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 /	

4�4��
���:���		����

����
� 8888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 '	

���:����	� 		

�
���;��	��	:���������
�	
�	�.���
�	

�

�8� �
���;��	
�	�.���
� 88888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 //�

��8� ��������	
��:
��4���8 88888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 /!�

%%)G)� #4�
��

������������
������3	���
� )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GH�
��
�
�
� �������	���	����������	�	��































































































 ���
��
�
�
� �	��������	�






















































































































 ���
��
�
�
� �
�����	�




























































































































 ���
��
�
�
� �����
���	���






















































































































 ���

%%)H)� #����
��

�����
������))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GI�
��
�
�
� �������	��	����������	�	��
































































































 ���
��
�
�
� �	��������	�






















































































































 ���
��
�
�
� �
�����	�




























































































































 ���
��
�
�
� �����
���	���






















































































































 ���

%%)J)� #��������
� )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GK�
��
�
�
� �������	���	����������	�	��































































































 ���
��
�
�
� �	��������	�






















































































































 ���
��
�
�
� �
�����	�




























































































































 ���
��
�
�
� �����
���	���






















































































































 ���

���8� �.�������	4��	�	
�����8 88888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 /<�

%%%)G)� 7���
���	
�L�&���	���
�)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GM�
%%%)H)� ��	���������������
��
����0%�))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HH�
%%%)J)� #����������
��0%����
������	���
�������
��

��))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HI�
%%%)N)� ����������
���������4�
��

�����
�����0%��$��
��$��
)))))))))))))))))))))))))))))))))))))))))))))))))))))) H:�
���
�
�
� ���������� !�	�����	��	����	




























































































 ���
���
�
�
� "������������	���#����







































































































 ���
���
�
�
� ����������	�$ ���	��	
 








































































































 �%�
���
�
�
� &��!��!�	��'�������	!����!$���$	�
 






















































































 �(�
���
�
�
� )�$����	�$ ���	��	�)�*�'�����!�


























































































 ���

��*� ����	���
��� )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) JG�
3�*� /��
��$�� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) JG�
��*� %
�	
��
��
��)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) JG�

��8� 4����	
��	��������	����
	����888888888888888888888888888888888888888888888888888888888888888888888888888 =/�

%<)G)� �	�������	
��������	���
��� )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) JG�
%<)H)� /��
��$�������
�	
��
��
�� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) JH�

�8� 
����
::������	��������888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 =#�

<)G)� ���������4�������6�����	����
�))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) JN�
<)H)� /��
��������������))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) JN�

��8� �
������
�88888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 =>�

4�4��
���:���	���:����	� 88888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 ='	

	



 	������� �

�

�

���:����	�� 	���4
����
�	
.���	���������	
�	
�
���:��
�	:
��	���	�������	:�������	4��	�	
�����	

�

�8� ����

����
�888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 #>�

��8� ����

�	
�	�
���:��
�	
�	�.�������	:�������88888888888888888888888888888888888888 #0�

%%)G)� �&	����
��������
) )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) N:�
��
�
�
� +,�	��� ���	��$��	�
 









































































































 ���
��
�
�
� ��	�����	����	�-!�$�����	�����!��!�	�



















































































 ���

��*�  ��
��
���0%��A�������B )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) NO�
3�*�  ��
��
���0%���
��6�����
�P��&))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) NM�

��
�
�
� �	��������	�����	���	$$	���	�$ ���	��	�.���	���
����	������	�	����,���	�	��/�	�����������

�!�����	!���	�-!�$���
 





























































































































 �(�
��*� 7���������� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) IQ�
3�*� 0�
����
���6	

���
�) )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) IH�

��
�
�
� &	�����$�����!���	�����	����	�-!�$���
 



















































































 ���
%%)H)� 7���
��	

���
�) ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) IK�
��
�
�
� +#����	��	���!
	��!�	����,������	�



















































































 ���

��*� ������	
��
�����	���4���
��
���	
����$��
) )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) IK�
3�*� #	���4���
��
���	
��	�����	
��
���
�$��
��������) ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) IO�
��*� ��
����
���4

���	���4���
��
���	
) )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) IM�
��*� �������������
����������$������������6	

���
�)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) IM�

��
�
�
� 0�	���
	��$ ���	��	��$�����	
 





























































































 �(�
��*� ���������	
������&������	
���4�
��

��0%�)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) :Q�
3�*� 7���
��	

���
���������) ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) :H�

��
�
�
� 1��	������	�	����	�$����
���
 



























































































 ���
%%)J)� �&	����������	
���������������)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) :J�
��
�
�
� "������������	���#������!��	����	�$�����!��!�	
 

































































 ���
��
�
�
� "�,���	�	����	�$����!��	��$��	�����	�	����$���������
 





















































 ���
��
�
�
� ����	���������	����!��	����������$	�

















































































 ���

��*� #����
��

�������
���))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) :I�
3�*� #�����
���)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) ::�

%%)N)� %�����
����4�
����������������	
 )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) :O�
��
�
�
� ��������	�� 	����	 












































































































 ���
��
�
�
� ���������� 


























































































































 �%�

���8� ����
���
�888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 0<�

%%%)G)� �	
�����	
))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) KQ�
���
�
�
� �#��2��!��������!�	�����	������	�	��














































































 �(�
���
�
�
� &�!��	�� 	2�������� 













































































































 ���

%%%)H)� ���
����� )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) KH�
���
�
�
� ��	�����	����	����$	2���







































































































 ���
���
�
�
� 1�������	���	���,���	�	��
 




























































































 ���
���
�
�
� *
�$!������!������	������������	�$�����-!	��	 



































































 ���

��8� �����:������
� 8888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 '>�

%<)G)� 7��$������������6	

���
���������
�
�������	
���	

���
�))))))))))))))))))))))))))))))))))))))) KI�
�3
�
�
� ��������	



























































































































 ���
�3
�
�
� *
�$!��������-!	���	$$	��!���,���	�	��













































































 ���

%<)H)� /
��

������
�����)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) KM�
�3
�
�
� ��������	�� 	����	 












































































































 �%�
�3
�
�
� 1��	���
����	������������	�$�����-!	��	















































































 �(�
�3
�
�
� 1�������	���	���,���	�	��





























































































 ���

�8� �
������
�88888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 ?#�

4�4��
���:���	���:����	�� 8888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 ?>	

	



 	������� �

�

�

���:����	��� 	

�������	4��	���������������	

	

�8� ����

����
�888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 ?<�

��8� 
�������
�88888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 <"�

���8� �
����
�������	������

��	
�	�.�������	4��		�	
�����8888888888888888 <"�

%%%)G)� 7�
���6��������	
���	

���
���
����	��� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) MG�
%%%)H)� ����	�����������3�
�����
��������)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) MG�
���
�
�
� ����������	������	�











































































































 %��

��*� 0�
�����
��������))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) MG�
3�*� 0�
������������ ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) MH�

���
�
�
� 1������!������	���#����





































































































 %��
���
�
�
� 1��	������	�	����	�$ ���	��	



























































































 %��
���
�
�
� "��!$������	����!$�����







































































































 %��

��*� 7��$������������6	

���
� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) M:�
3�*� ����	$���&��������&��� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) M:�

���
�
�
� ����$!������!��$	���	��	���,�	��	����������	�	��





























































 %��
%%%)J)� '
��������3�
���������������
������R���3�
����
�������))))))))))))))))))))))))))))))))))))))))))))))) MO�
���
�
�
� ����������	������	�











































































































 %��
���
�
�
� "������������	���#����������$�����!��!�	









































































 �((�

%%%)N)� ����
�3���	
�����;
�����
����������
�
��������	
���	

���
�)�/��������	
���

���
��

��

- 'S7� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GQG�
���
�
�
� &��!��!�	�)�* 




















































































































 �(��
���
�
�
� �4!��	�	����	�����-!	��	���	����������	�	��������	��!�����������$	����-!	 


















 �(��

��*� <������	
��������	����	
����������� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GQJ�
3�*� <������	
������������������� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GQI�
��*� <������	
�����4�������
� )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GQ:�
��*� 0���
 ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GQK�

���
�
�
� &�$	�������	������	��5&671�& 























































































 �(��
���
�
�
� &��!$�������	�$ ���	��	�5&671�& 


















































































 �(��

��*� 7���
��	
��$�
������ ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GQO�
3�*� /�������	
 )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GQM�
��*� ��6	

���
�)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GGQ�

%%%)I)� �	
��
��	
��
������	
���	

���
�����������
��������3�
���������������
������R���

3�
����
������� )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GGG�

��8� �
���:��
�	
�	:�
�
�7:�	��	�������8888888888888888888888888888888888888888888888888888888888 ///�

%<)G)� 7���
��	

���
�)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GGH�
%<)H)� ���
��������	�������	
����
����	
S���
��)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GGJ�

�8� �
������
�888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 //#�

	

4�4��
���:���		���:����	��� 88888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 //>	

	

	

	

	

�



 	������� �

�

�

���:����	��	 		

�

����������
�	
�	��	4��
�	
�	��7
�������	��	
�	����	

�	�.�������	4��	:�������	�	
�����	:��	�;������
�	

������
�����	

�

�8� ����

����
�8888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 //<�

��8� :�����:�	
�	�
����
�������888888888888888888888888888888888888888888888888888888888888888888888888888888 //<�

%%)G)� ���
����)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GGM�
%%)H)� 7���	����	
������	
��������	
����
�����6	

�
��))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GHQ�
��
�
�
� ����������!��	
 














































































































 ����
��
�
�
� ��������!��	�




















































































































 ����

��*�  	
�����������������TQ)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GHJ�
3�*�  	
�����������������I�TQ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GHJ�

��
�
�
� ������8��!��	��	�����	���	�9(


























































































 ����
%%)J)� 7��$�����������6	

���
����������������))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GHI�

���8� 
����������	�������������8888888888888888888888888888888888888888888888888888888888888888888888888888888888 /!0�

%%%)G)� �������������
��))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GH:�
%%%)H)� ��������	
����������
��
������������
���������	
���� ))))))))))))))))))))))))))))))))))))))))))))))))))))) GHK�
���
�
�
� �!��	���������!������	��	���!��	��	������	�
����!��	����	�	�����������


















 ����

��*� �	
��$
����	
�����
���� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GHK�
3�*� 7���������������
�
������ )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GHO�
��*� ����	$���&�����
��&������������
�))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GHM�
��*� �	�������	
������

������	
	�	
�����6�
��

��������������������������
���
�) ))))))))))))))))))))))))))))))))) GJQ�

���
�
�
� 3����������	�$ 	����	�	���� !�������	�����������	���!��	��� 	2��������























 ����
��*� 7���������������
�
������ )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GJH�
3�*� ����	$���&�����
��&������������
��U��U)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GJJ�

���
�
�
� *
�$!������	����������	���	���,���	�	���	������������	�$ 	����	�	����	����!��	�





 ����
��*� 7��$������������6	

���
�����������
�
����
������
����������������))))))))))))))))))))))))))))))))))))))))))))))) GJN�
3�*� 7��$������������6	

���
���	
���������
�
����4��������	
��
����	
���	��)))))))))))))))))))))))))))))))))))))) GJI�

��8� �����:������
�	:��	��	���
���	
��	������; 8888888888888888888888888888888888888888888 /=0�

%<)G)� �&�	���))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GJ:�
�3
�
�
� :���	!���	����	�!













































































































 ����
�3
�
�
� 1�������	���	���,���	�	��



























































































 ��%�
�3
�
�
� ��$�!$��	�$�����	���
���






































































































 ����

��*� �	
��

������
���
�����)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GNH�
3�*� �	
��

������
�3�����
��	

�� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GNJ�
��*� �	�������	
��������
�������&�	���S���
����	
��7�7 ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GNN�

%<)H)� ������$�������	3������	
��������4

������
)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GN:�
%<)J)� �	
������	
��
�������
��������������
��������
�� )))))))))))))))))))))))))))))))))))))))))))))))))))))))) GNO�

�8� �
������
�888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 />/�

	

4�4��
���:���	���:����	��8888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 />=	

	

�

	



 	������� �

�

�

���:����	�	 	

�

�������	4��	:
��	
�:
������	

�

�8� ����

����
�8888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 />'�

��8� ���	��������	�	
�:
������8888888888888888888888888888888888888888888888888888888888888888888888888888888888 />'�

%%)G)� 7���
���	
))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GIK�
%%)H)� 7	���
����4
��������	
))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GIO�
%%)J)� ���
����� )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GIM�
%%)N)� 7��	�
��$��������
��
���0%� )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) G:G�

���8� 
�:
������	����	���	���������	4��	:�������	���������8888888888888888 /0!�

%%%)G)� �������
��������

������
�����
������	
���� )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) G:H�
���
�
�
� �������	�	����!����	�!��	!$



























































































 ����
���
�
�
� "��	�!�����	���!��	�� !���������!�)�*








































































 ����

%%%)H)� %
����������	
 ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) G:I�

��8� :���������
�	
�	�.�������	�	
�
��	
�	����� 8888888888888888888888888888888888888888888 /0?�

%<)G)� 7���
���	
�����	
��������
��� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) G:O�
%<)H)� ���
����������
��

������
��������	
��������
��� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) G:M�
%<)J)� 7���
��	

���
����������������������
��)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GKQ�

�8� �::������
�	�	�
���	���
�	 	�.�������	4��	�	
�:
������8888888888888888 /'!�

<)G)� /
��

���
������
��	
���
��
���))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GKH�
3
�
�
� 3�$���������	�$�����#��	�����!�	�	2����	��	�'���;��5<=















































 ����
3
�
�
� &�$	������� !�	����	�������	����������������
�$����	























































 ����

��*� ������	
��
������
����������
��	
&���� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GKI�
3�*� /��������	
��
���6	

���
���	
	�	
���))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GK:�
��*� ����	$���&�����
��&������������
�))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GKO�

<)H)� /
��

���
������
��	
����
���)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GKM�
3
�
�
� 1��	������	�	��













































































































 ��%�
3
�
�
� ���$,�	��!����	�!��	!$��!���$����	�����	�����


































































 ��(�

��*� 7���
��	
��$�
��������������	����	
�����	
���� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GOQ�
3�*� ��6	

���
�)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GOG�

3
�
�
� "��	�!�����	�	2����������	�$�����!��!�	










































































 ����
��*� 7���
��	
��$�
������ ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GOG�
3�*� ��6	

���
�)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GOH�

3
�
�
� +�$�����	���	��������	!����	�$�����!��!�	�
��8'8
����!����������	 


































 ����
��*� 7��	�
��$���
��	
���	
����������������������������������������� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GON�
3�*� 7��	�
��$���
��	
���	
�����4�������
�������������� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GO:�

��8� 
�:
������	�����:��	����	���	�������	4��	�������������;8888888 /??�

<%)G)� ���
����)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GOO�
<%)H)� <�������	
��
��	
���	

���
���
����
����	
))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) GMQ�
3�
�
�
� 1��	������	�	��













































































































 �%��
3�
�
�
� "�,���	�	��




















































































































 �%��
3�
�
�
� ���������#�	���!��#�����$	����-!	 

















































































 �%��

���8��
������
�888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 /<>�

	

4�4��
���:���	���:����	� 88888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 /<'	



 	������� �

�

�

���:����	��	 	���������
��	
���	��	��
��	
�	:�
6���	
�8� ����

����
�8888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 !"/�

��8� ��	:�
6��	���
:���	�
��
 88888888888888888888888888888888888888888888888888888888888888888888888888888888888 !"!�

%%)G)� �����
����	
��
���	;�� )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HQH�
%%)H)� ��&���������&��$�� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HQJ�
%%)J)� ��
�����������))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HQJ�
��
�
�
� ����	�������	�$ ���	��	 



































































































 �(��

��*� �&	����
��������
�0%� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HQN�
3�*� 7���
��	
������4�
��

�))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HQN�
��*� ��������	
)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HQI�

��
�
�
� 6	�!�	�





























































































































 �(��
��*� #��3�����	��������
����/�� )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HQ:�
3�*� #������
����� )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HQK�

��
�
�
� ����	�����	�



















































































































 �(%�
��*� 7�����
������
����
����	
))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HQM�
3�*� 7�����
������
����������	
))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HQM�
��*� 7�����
������
����
��)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HGQ�

��
�
�
� ������!��������!$����!��	�






























































































 ����
%%)N)� �	
��
��	
))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HGG�

���8� ��	:����������	����	��
����88888888888888888888888888888888888888888888888888888888888888888888888888888 !/!�

%%%)G)� �����
����	
�����4�
����������/7%/##))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HGH�
%%%)H)� #����	;�� )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HGJ�
���
�
�
� ����	2�	




























































































































 ����
���
�
�
� ��#�	���	���#���	�











































































































 ����

%%%)J)� ���3	����	
�����4�
��

�)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HGN�
���
�
�
� �#��2��	�$�����!��!�	����$	����-!	 




















































































 ����

��*� �����
������
�����)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HGI�
3�*� /����3��$����	��
�����))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HG:�

���
�
�
� 5�������	�	�������	��	���!��	�
 





















































































 ����
��*�  �&����������	
��$
����	
�)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HGK�
3�*� 7�������������	�������)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HGO�
��*� 0�
�����
���6	

���
���	������� )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HGM�

%%%)N)�  ��
����	
��7�7�����4�
��

�)))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HHQ�
���
�
�
� 1��	�������������$	�







































































































 ��(�
���
�
�
� "��!$����



























































































































 ����

��*� 7���������������
�
������ )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HHG�
3�*� 7��$������������6	

���
� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HHH�

%%%)I)� ���������	
 ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HHJ�
���
�
�
� "��$���������!����	�!�� 	2�������� 



















































































 ����

��*� /�������	
 )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HHN�
3�*� ���������	
 ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HHI�
��*� '��
�� )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HH:�

���
�
�
� "��$���������	�$ ���	��	�����$>�	




















































































 ����
��*� ����
����������������
� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HH:�
3�*� '	
��$������4�
��

���	���5�� )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HHK�

���
�
�
� 6	�!�	�





























































































































 ����
��*� �	�������
������������	
 )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HHM�
3�*� -��
�����
�
���� )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HHM�
��*� 7��$������������6	

���
� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HJG�

%%%):)� /����	����	
���	���3���))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HJI�
���
�
�
� ����	���������	�$ ���	��	����!$�	




















































































 ����
���
�
�
� "��!$����



























































































































 ����

��*� 7���������������
�
������ )))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HJ:�
3�*� 7��$������������6	

���
� ))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))))) HJK�

��8� �
������
�888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 !=?�

4�4��
���:���		���:����	��888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 !=<	



 	������� �

�

�

�
������
�	�������� 8888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 !#=	

	
����;�	/ 	
������������	����
��
�	��	�
����������8888888888888888888888888888888888 !#<�

����;�	! 	�
�����	�����	���	4��
�	�����
���	����	�����	@ 8888888888888888 !0/�

����;�	= 	:����������	4�4��
�	��	�
����
�	
�	��	����	
:�����4������8888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 !0=�

����;�	# 	:���������
�	
�	��	4���	
�	�.���
�8888888888888888888888888888888888888888888888888 !'/�

����;�	> 	������	
�	��	�������	
.�������������	
�	
��;	������	
�����������	
�	��7
�������8888888888888888888888888888888888888888888888888888888888888888888888888888888888888 !'>�

����;�	0 	�
�:�����
�	
��	:���
�������	
�	�.�������	4��	
������
�����	����	������	
��	������;	��:�����88888888888888888888888888888888888888888 !'<�

����;�	' 	�������	
�	:�
�
�7:�	�	#!	��A888888888888888888888888888888888888888888888888888888888888 !?/�

����;�	? 	:���������
�	
�	��	4���	�
�:����	�������������	
�	
����:� 8888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 !?=�

����;�	< 	�������������
�	
��	��������;	��
����8888888888888888888888888888888888888 !?'�

����;�	/" 	���
�	
�	�
�:����	�����:����	
���	��	���������
�	
�	��	
4�:
��������
�	:
�	�.�������	4��	
�	��
����88888888888888888888888888888888888888888888888888 !?<�

	

�

�����	
��	������; 888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888888 !<=	





%
��	�
���	
�$�
������ �

�

G�

�

�	
����

��	���	������



%
��	�
���	
�$�
������ �

�

H�



%
��	�
���	
�$�
������ �

�

J�

%.���7"��%�.�-�.��/#��

�

�

�� �6��5��� �4��
���	
� �
� �&���� ������	��$
����
�� �
	
��� �
� /?0?� ���� ��� �&6�����
�

��	������'/VD�##����
���������������
���������W��
��
�����������
���
�

��	
����
��

���
��
���	
�
���	��������	
���)�%���	
�������
�/??'��4�
�
���	
�����/�/7/,����	
����
�����



��	
��
����������
����
���
���	�
����

��
����������
�
���	
����
��

�����
����������
��
	
�

����������

��������4������
������"�'2����)�#���������	
�����	
���������
���	���3��������

����W�
�����3���������	�������
��4���������	
����������	
������������������	
�������$
�
��

���
�������
�����)�

%����
��������
����/?<0��	
��	3����������������
�����-
$�����	�'/���.%��
����������

�
�� ��� 3���� ���� �����
�� ����%-�%� ���� ������� ��� ���
������	
� ��� ��� �������	
� �������
�����

���
���� �������� ���� A����	��B)� ������ �

��� ����� ����
��� ���� ��� ���X�� �4

� 3������ ����

'/���.%�Y� A������>������� $����������������	�������!2��$	����-!	���!���,	��� �����	�$��

����	������B)�

#���R����

��������
����/����
��������<������
��	�
�� ��	)+�2�$+�	�������	�
��

�
������������������������������������	��&����
�������������	�����
����4������������	��$��)� 	
�

�
��
��	
��
��
���������	�����������
����
�������������
�������'/���.%)�

���� ��
�� �
��
��	
�� ����
5��
�� ���� ��3
��� ��� ��� � �� (���
������	
� ��
�� ���*� ��

�����
����
���	6�
�������$
�
��������	��$
����
���Z���+�/[)��������
�����������E���
���
��
�

������$
�
������
��������������+���������������	��

�����	
����
����������4�
���
���\ �

7��
�����������	�����
������������&
	�	$����	
���	

��
�����
����
����������
�������

����	����������
����������3
������$
���������
��������
������
������������	�����&	
���(/</!	Y����

 � ��
�����
��������������������
������������&����
��������	
�
�������
���OQQ�����	

��)�����

���
���
�������������
3����������	
����������
��������	����������������	��
����*)�

�
�/<#>�����5�����$
�������	
�����������	
���
���������������	�	��

�����	
���
��	
����

�	
������	

�����
�� ��	���

�� �
��������� ����	�����)�������	����
�� �
� ������ �����������������

���
������	
� ��
�� ��� GQ� �	��� �
�����
���� �� ������� ���� �
���
�� �=3���� �	
�+����
��

����$���&��
���� ��� ��������
�� �
��
� ��� �����	����� ���� �
����� ��������� �
����	
��
�
��
�� Y�

�����&	
���������������	
��������������)�����
��
�����������	�	��

�����	
�������������$��
���

#�



%
��	�
���	
�$�
������ �

�

N�

�����
��� 
�� ��
��
�� ������ ����� �� ��� �	
�
���
��� ���� �=3���� �	
�+����
�� �����&	
��
���� ����

�������
��&���]��
���	
���������������)�/
���3
�������

����/<'"���&��
����6�������
����
������

�!��
����� ��� �����	
�� ������

��� ��� �����	��

�����	
�� ���� ����������� ��� ����

����	�	��

�����	
���
��	
�����	
����������
����5��������!R����
���������Z���+�![)�

/
;	
��4&
���������&
	�	$������
����������
�������
���
�$�������
	������������3��	�
�)�

#4�
$��
����	
������3	

�������������4�
$��
����	
�������3�������	
�����	
;	
�����
���	�
�����

�������� ���� �����
�)� #�� �
�
�� �������� �
�	��� 

�� ��	����
��� �&�
	��
���� �
���
�� ����

�����
�
�� �	3����� �	���� ���� �����&	
��� 	
� ���� 	���
���
��� �	���3���� ���	
�� ������� �� ����

�����������������������
������	�3�����3������	
��	6�

��)�

��������	�����
���
��
�����
���8
����
���	
������$���	
���������&
	�	$����
���	
�����

�����6��5���������
�������
����������
��

��)��
�������������6��5�����	��

��
�
������	
����

������	��$
����
������
��������
��

��6��5���������
��	�����	
�����4�
��$���$
������
��
��$���

��6	

��)� �����
��

���������������������
��

����������
����	
����
�����	
�����
����&�����

���� �&��$���� �
;	
��4&
�� ��� 
	
������� ���&
	�	$���� �	
�� ����
�
��� �	
�� ���
���� ����

�	
����
���� ���� �����
�)� ���� �
��

��� �	���
�� R���� ���$�� 3�
���� �	��� $��
�� ���3����	 �̂� ��� ��

�
�	�3����
�����
��)���������5�����	
��3��
��	
��
���
�	�����3���)�

"
�
	
���
��6����4�
��

�����3�����	�����
������
�����������
���
���
���4�
���R��������

����������
�
��������Y��4�
��

����3�
����
��������������	��$
����
�)��

#��� ���
��
���� �� 3�
����
�������� �&	�	
��
���	

�����
�� 

� �����	�����
���
����	8��

���	
�
��������
�����
���HQ��
��������
;	
��4&
����
�����#"""��	�
��
�������
3������	
���
��

����
;����

�
	�3����
���	
3����	
��������
���
���	��������	
�����4�
��	6�3���3�3��	$���&���

��������� ���� 1	
��&�
� �)� 7	P��
$� Z���+�=[)� � #��� ���������	
�� �	
�� ��5�� 
	�3��
���� ��
�� ���

�	���
������4	����
�������������		
����������

�����������	
�������
��5����	
��������
��������

������	��������������
��������������
��
�����	
�����������

���
��

�����������)�

#4�
��

��0%�� �� ����
�� Z���+�#[� ������� �4	3��
��� �� ������� �4

�� �	
���� �����
������



���	��������	
��	��������4�
��$�����
��

���������	
)�����6����4�
��

�������
����4���
��$��

�4R�������
���������4	3��
���

�$��
������
���
��	
���	
������������������
������������
��
���0%��


�������)�7���	
�����	
�����������
�����������������
����6	

���

���	��������	
���
�������
����

3��
��
4

���	��������	
�����
�����)�



%
��	�
���	
�$�
������ �

�

I�

/
���3
�����
	�������
�����������	���
���������
����2����%������4�3��
���������&
��
��

��� ����
��	

���
��� �4	���������	
� �
� $��
�� ��� ��� 3�
��� ��� ��6	

���
�� 	
� �
�	��� �
�

��
����
������
�����)�

'���� �
� �	�
�� ��� 6� �� 

�� ��]��
�� �4�

���� ���� ��
���� ����
���� ������
�� �
����	��� ���


	�3��
�������	�����
����
�	
�������	��
�������������������
��

�)�

�4�����
������3������
4����3
������������������&5��������
�����
�������

����������
������

�
��5����
���	
�������
������	�����
����� �4�
��

��0%�)��
��	
������$�$��� ��	���	3;�������

���
����
��Y�

#����������	3;�������	
�����������
���
����

�����&
��
������	
�����	
��
���	
����R����

��
�������� ���
� ��� �	
���	��� ��� ��E	
� ������
�� 

�� �
��

�� �	
�� 	
� ��8�������� ��� $��
�� ���

����
�
�������	
�����
����������
����
������
�����������	������)��

#�� ���	
��	3;������ ����� �4����	8���� ���� ����	���
������� �4�
��

�� �
� ����������$��
�

������
��	
�����,��-�	-�	+�5����2���)��	
�������
	
�������
���	
��

�� ���&
��
���
������

�4����$������
��������3�
�������4�
��

�)�

#�� ��	���5��� 	3;������ ����� ��� �����
��� �� 

�� $��
��� �	�6����
��� ��� �4�
��

�)�������

�	�6����
��� ���� 	3��

�� $�=��� �
� �	��	�����
�� 2*���B+�C*����%	 ��	 2*���B��%���*3� ���

�4�
��

�)�

���� �&�	����� ���	
�� ���	���$
���� ��� ���
������ ��� ���
����	
�� ��� ��� ���� ��&��
�� ���

���������	
�)�

:���	-*	2��*%�+���Y�

#�����������&���������	�	�����

����������4���������
��

���$��
��$��
��
����
���
������

�6��5������������	��

�����	
����
�����)������
��

������	
���	����������

�
	
���
��6���

�4�
��

�� �������� A�/
��

�� ���
����� �	
��
�� ��� �������
�� �� 3�
��� �
��������

������	��$
����
�� �� ����
��B)� �������	�������	
� ����� �4	�����	
� ���������� �
� �����
��� ����

���
��$������ �����
�	
��
��
�������������
��

��������;
���������4�
���3�������4��
����
�������

��
�����������
�����	
�������	�������������	���
���)�

#�� ���	
�� �&������� �	
������ �
� 

�� ���&
��
�� ��� ����
��	

���
�� �
�� ������� ���

�	
���	��� ��� ��E	
� ������
�� 

�� �
��

�� �	
�� ���� ����	���
���� �	
�� ��8�������)� �������



%
��	�
���	
�$�
������ �

�

:�

���&
��
���	
����
�� 

� $
�����
�� ��
��R���� 
������� �6��������
���
�� ��� �
���	����
�� �
����

�
���������&	��������������
������$�	����������������
��
�����������
��	

���
������4��������	
)�

#����	���5����&������������
������
�������	��	�����
���
�������
�
��������4�
��

��

�
����
����
�����6	

��������	3��������������	
������
������������
�
���)�.	
������	
���
�����

�&	�����������
�
��������	
���	

���
����
��R�����������������

��$��
��������
��)�

#�� �
����5����&������� ������ �
� ���
������ ����
�� ��� ������ �
��

��Y� �4���	������� ��� ���

3�
��������6	

���
�)�-�=�����

����3���
	�3�������	
������4��������	
�����$��
�������3�
���

��
��
��R���� �
$��
���)� ������ ���&
��
�� �4���	���$
���� �4

�� ��
��� �&�	���
�� ��������
��

�4	�����������������	���
������
����	������	
����
�����
����	
���7�7)�

#�� ��
�
�5��� �&������� ��	�	����� 

� 
	
���
� ����
��	

���
�� ��� �4�
��

�� �
��

���������� �4	3��
��� 

� �������
� �	
��
�� ���	�
��)� ���� 

�� ��������	
� ;
�����
���� ��� �����

�	���3��� ��� �������	

��� ���� �������	
�� ��� �	�
��$��� �������
�� ��
��� 

�� �
��

�� $��
�� $��
�

���	�
��3��)�

�	
����
�����������5����&�������������3�������
�����������	
���
����������
���4���
������

��� ��E	
� ������
�� ���� ������� �
���$
���
��� �
	
���� ��
�� ���� �&�������� �������
��)� ����

���������	
�� 	
�� ���� �����	������ ��
�� ��� ������ �4

� ��	;��� �
�	���
� �6�
�� �	
�� �������

��/#� ������
������������4

���	���3	����	
�������4�
����������/7%/##)�



%
��	�
���	
�$�
������ �

�

K�

0%0#%�-�/��%���%.���7"��%�.�

�

D���+�/E	6���(6��C*�%	��

�	
A�#4�
��
��	
�����	
����Y�7
�7�	����������
��
���
�
���
�B��

�&���YSS&����H)����)��SGMS#�7� HQQG)����

�

D���+�!E	A�0	�����������!����������?��	�$��+&:��!2������	�!2�<	��=�	��B��
�&���YSSPPP)�����	�+�
��
�)�	�S��_GIQ�
�S&��	��S���QG)&���

�

D���+�/E	68:8	

F����	
A��#�������@�������������������$������#,B��

&���YSS�&6�)��
)��
S̀;�	P��
$S�3$3�3)&����

�

D���+�#E	��+�	������
�	
�A���$,�	��������	�	���$	� 	������	�������	���������!2����$	����-!	��'�����	� ���	����	��#�����-!	
�

���$��������'�$ ��!�	�	��'�$������	������� !����!
	�!��,�	�� ���	��	A�

�&5�������	��	���+�
aJN+GMMM+�"
������������#��	$��+�GO�
	���3���GMMM�

�

�

�

	

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



%
��	�
���	
�$�
������ �

�

O�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

M�

�

�

��.��V��������� �.�/�%�.�7��#4��"7��

bbbbbbbbbbbbbbbbbbbbbbbbbbbbb�

�

� Contexte de l’étude 

� Les antennes actuellement disponibles 

� L’antenne planaire BIE à défaut 

� Développements réalisés 

�

�

�

�

�

�


����������



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

GQ�

�

�

�

�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

GG�

�8 �
���;��	
�	�.���
�	

#��� ��
���� ��
���� ��
�� ��� ��

������ �4�
������
�� ��
�� 

� �	
������ ��� �	���

�����	�����
�����������
����������	��

�����	
����
������)���
�+�����������
��������������5��

��������
��������
�����
��������
����4

����]��
������5��������
���
���>��	�5�����������	
��

�
��	���������
������	
�����	
����������	��$
����
����
����
���������������=3����&�3��
���)�

�
��������4�
��������	
������
�+���
��������
������	
�������
�$���
���(�	
�����
��������

���
�&��������=3��������3=����
��*�������	
����	$���������
���������������������	�
��	
����
��

���)�

%�����������
���
������&
	�	$������������
$
�
������ �������
�
����4������	
�
������������

��3��������	

����	
�����	������������
������	
�)�

'���� ��� 3	
� �	
���	

���
�� ��� ���� �����
�� ���� �
����	���3��� ���� ����	���
���� ����

�
��

����
������	��	��
�)��
�������������
��

�����
���������
��������
��	�����	
�����4�
��$���

$
����� �
� 

�� �
��$��� ��6	

��� ��� ��	��$��
�� ��
�� �4������� ��3���� �	���
�� �4�������� �
��

������
������������&��
�������
)�

#4�
$��
����	
�������3����������
������	
��
$�
����

�����$������
��������3�
������

�	
���	

���
�� ���� �6��5����� ��� ���� �	
���
�
�� 

�� �
$��
����	
� ��� ��� 3�
��� ���

�	
���	

���
�������
��

��)�7����
��������������	����
���4�
$��
����������������������
�������

�	
����
����	
�������������
	�3�����������	
�����3�����	
������������������������	
���	�������

�
��

������������$��
��������)�

�����	
���
�
��� �����
�
�������� ���&���&�
�� 3��
� �	
��
�� ���� �
��

����+��-	 ����� ��

B��,��	 ����2,+�2���� ��� �����
��
�� 

�� ��+��	 ,��-�	 -�	 B���������2���G�����5���� �	
��
��

����2)���,��%)��

7�
�� 

�� �����5��� �&���� 
	
�� �����
���	
�� ���� �
��

��� �
�� ����	��
�
�� �
�� ���

����&�����������	��

�����	
����
������Y�������������
�������3	���
���������
��

�����
����������

���������
����������)�7�
��

�����	
����&�����

�
	
���
��6����4�
��

����������A�
��

��

���	

�
��� �� 3�
��� �
�������� ������	��$
����
�B� ����� �������� �
� �������)� ����� �����
��� ����

����	���
�����
�������
�����	
������6����4���������	
)� ����������������
������	
���	����������

������������
��

���������
�������
	
���
����$��	
�����������	�����
����
���	
�������
��
������

����
��	
����������������
��
��������	����

��������&5��)�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

GH�

��8 ��������	
��:
��4���8	

#����
��

��������
��
������$��
�����	���
������������
���
���
������$	�����Y�

• #��� �
��

��� J7� �	���� ���� �
��

��� ��
������� ��� ���� ��������
���

����3	���
����
���	
�������6��5�����	������
��)�#���$��
����
��
�������
����

NQ��0��������
���
�	�3����
���������	���
�)�

• #����
��

���H7��	�������������
�)�#4�
�	�3����
��������5�����3���������

���$��
������������(JQ��0������
�*)�

<	���������E	
��	
���������	
���	

���
����
����
���������
��$�������
�	
��
��
������

�&��

����������	�
��	
�)�

��8/8 �.�������	H	+�B�����*+	)�+�,���C*�	

������ �
��

�� �
��
���� ��� K� ;
�
� GOOK� ���� -��
������ �)� D��7 � 
4�� ������ ��� ���

�����	����� ��� ���� ���
������
�� �� ���
����� ��� �	
�� ��5�� ����	6��)� /���� ���� 	
����
���� ���

�������
� ��5�����
������������$��
��������������������������$�����	
�� �����+��%2�%%���%	 ����*�	

-�%���������
	�����
�������	��

�����	
������������)�

��8/8/8 :+����)�%	-�	B���������2���	

#��� �
��

��� �� ��������
�� ����3	���
�� �	
�� �	��	����� �4

�� �	
���� ����	���� �� ���

�	������4

���������
��Z�8/[)�

#�� �	
�������� �4�����
���&��$����� ���
��	����� �4�
��$���$
������
��
��$��� ��6	

��)�

 ���	
���	
������$�����
���4���
��
��������������
�������E	
�&	�	$5
�)�

���� �������	
�����	
����������	��$
����
����
�� ��� �
������� ����	
���� ��&����
����	
��

���
��	������ �
� 	
���� ���
��� (���*+�	 �8/*)� /�
��� 

� ��	
�� �4	
��� ���
� ���� ����� ����� 

��

�
������ ���
��&������
���������
����4	
����
�����6	

�
�����
�����
�������4�
��

�)�

#�� ��������
�� ���� �	
��
����������
������� ��
�� �$�����
��R���� ����������
�� Z�8![)� #��

�	
�����������������	�������
��R�����$�����
������	�����
�	������Z�8=[������E	
�������������]	
��

�4	�3����
4�������	�	�
�)�74�
������	
��$
����	
����������
���4	�����������$���
�	
�-��$	�6�

�	
���$�����
������	
�3����Z�8#[)�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

GJ�

�

���*+�	�8/�Y� �&��������4�
��

������3	���
��

-�
�������
�� 

��	�
��� ���
��� ��� �	
���	
���� �	
������������� ��������	
�� �
� �����
�

��
��
�� R���� ����	6���� �	���� ���� �������� 

�� 3�������� ��� �	�
���� Z�8>[� 	
� �
�	��� 

��

�
��

�����	
�
�����3�
����
���������&	�	
��
��Z�80[���
�����3
���4�����	������������	���
����

����4�
��

��	
��������������
��������������
�)�

�
� ������� ��� ���� ���������� ��� ������� ��� ����	���
���� �4

� ��������
�� ��
�� ���
���� �
�

�	����������������������
����������	
���)�#4������������
���������
�����������
	
���
����
�������

$�	���������	�����������$�����
���
���
����
���4���
��
���	
��!���+�+�������������������	
��
�

�&�����
�������
�������
��&�����
�������������
��Z�80[)������+�������
�������������������
������

����	
���)�#	���
���4������
����
��&�����������
������
�������
���������
����������
���
�$��
�

�����
�� ���� �������� �4

��	�������
��I/� (�����
�� ��� $��
*��
�����
�� �� G�� 	
� ������ ��	��� ���

)�+��%	)�+	�)�-�%�����)�"
����	
�������5�����
�����
��	�������
���4������������
���������
�)�

�	
����4�
��$�����6	

�����������	
����
4������������������������������
����������
��$�������
��

�	
����
��������������
���4	
���������)�+��%	)�+	-�,�+-�2����(�	�������
��I!*)�

#4�
��

��������������3�����

��	
����
�����6	

�
��������

�����������	
������&�����

&	�	$5
���
�������
�������
��&���)�#��$��
��
���������
������
������ ���
��R��������
����������

�	��
����
���
���Z�80[�Y�

HGH

N
II

�
� ××××××××

λλλλ
ππππ==== � � � � � ��(�8/*�

/����T� ��� �	
$
�
���4	
�����
�� �����������>G����>H������
����
���	
�� ������������
��

����
��
���Y�

��	
���4	
������
�

�

�

�

�
����
�����
�����
���

 
������ �

 	
�����
��	�
���	����

��������
��

����3	���
��

��



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

GN�

• 7����������������	������	
)�

• 7����������������3	�����
��(	
������	���*)�

�74�
����� �6���� ��� ������� ������ �� ��� ��3������	
� �
���
�� �$�����
�� �
�;�
��	���� ����

�������� �4����
�� �
�� ��� �	����	
� ��� ��� �	
���� �� ��� �	����� 	
� �4����$
������� ��� ��� �
������ �
�

��������
�)�

��8/8!8 :�+B�+2����%	

'��$��� ��� �����
��� ������� �������� ���� ��������
��� ����3	���
��� ��
��
�� �����
���� ����

$��
������4	��������IQ��0)�#��3�
�������	
���	

���
����������
��
�������������������	
����

�����
��������������
���
���	
���������4

��	�
��)�#�����$�����������6	

���
���������6���

�4�
��

�� �����
��� 

� �	3�� ��5�� ��������� (���3��� 	
����
��*� ����� ���� 
����
�� ��� �	3���

���	
���������5�����3����(+HQ��0*)�

��8/8=8 �1������%	

#���	
�����	
� ��� �4�
��

�� ���� �
;	
��4&
����8�������� ����	 �̂� ��� ��3������	
� ���� ��5��

���
��)� �	
�� ���
���� �4�
��

�� ����3	���
�� ���� ����

�� �4�
��

�� ��� �������	
� ���� ����������

�4�������
���������
;	
��4&
����
���
��������	
������	6������
����)�

��8/8#8 �����1������%	

 	
��
�	�3����
������
	��3����
���
���4�������
������4�
��

������
���4

����������

��� �	������
� ��������
��������$�����
����������
��	
����� �4�
��

�� �	
���)�#������5�����
�

��������
���������	���
���
���
�� ��� ��
����
������
������������� �4	��������IQc)����
�+�������

���
���
	�����
���������]	
���4	�3����������������	
�����	���
4�����
4���������
�	�����)��
��
��

�4���	���
����
������������
����
��3����������������
���
�)�

�
� �	
��
��	
� ���� ��������
��� ����3	���
��� �����
��
�� ���� ����	���
���� ��5��

���	���
���� �
� ������� �������	 ��	 -�	,��-��� �����*�	 B��,��	 ��J��������

�����2,+�2���	

����,��)��

"
���
��5����6��5����	������
��$��
��$��
����R���������
���Y������
��

�����
������)�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

GI�

��8!8 ��%	�������%	��������%	

%�� ������� ��
���
��� �6���� ��� ��
�������Y� ����������
���� 
������
�� ���� $
����� �4	
����

�
����	��������������������)�Z�8'[�Z�8#[�������
������
�
�����
������
��
�������
����������������
��

B��*+�	�8!)�

��8!8/8 :+����)�	-�	B���������2���	

#�����
�������������
�������������������������
���
���������
������3	���
�)����������������

���
��	�����

��	
�����&����
���
�	
������
��(���4������	
*�����
�������
��(������������	
*)�

#�� �	
���� ���� ����	���� �� ��� �	����� ��� ��� ��
�����)� 7�� ������ ��E	
�� ��� �	�� �4���
��
���	
� �
��

�4	
����
�����������
������(���������	����*�������
��&���)��

�

���*+�	�8!�Y� �&��������4�
��

����
�����)�

#����������������3	�����
���
������

�
����
���������
������4���������������4�
��

������

����R�����E	
��
���	
�������������
������3	���
�)�

#�������$������4������

������
��4�
�����
��
���8
��

���������	
�(	
������������	
*��
��

��
���

�������������
����
�)�#���	�
��	
��������	3�5�����
��R���� �4�
�����	
��4

���	
�&��

�
��������&����
��� �	
����
��� ���� 

� �����
� �
������������ �4�
����� � � ��� �4�������
�� T$SN)�

-�	3�����
��� ���� ���;���� ��
�� ��� ����������
�� ��� ��� ��
������ �	
�� �
;���� �
�� ������� ������ �
�

�������
�Z�8?[)�

��8!8!8 :�+B�+2����%	

#����
��

�����
���������
��
�������
��������$��
������4	��������NQ��0�����������	3���

���	
������� ���3���� (+HQ��0*� Z�8'[)�#�� ��
������ ��
��������
���

��3�
�������
����� ��5��$��
���

�
������
�
��������		
�����
���
���4����

��	��	��
���
���+	����
�)�

��

#�
����������������
��

�4�
�����
�

�
������&����
��� �
�������
���

 	
�����
��	�
���	����



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

G:�

#�� 3�
��� ��� �4�
��

�� ��
������ ���� ���� �	
���
�
�� ��������� �� ��� 3�
��� ��� ��� �	
����

�4��������	
)��������
���
�������������4

����]��
������	
���
��)�

��8!8=8 �1������%	

�	
��������
���
���������
���������
��������+�1�������	��	�+��%2�%%���)���������	�������

�����
�� ��� ]	
�� �4	�3��� �
$�
����� ���� ��� �	
���� ��
�� ������� �
� ��������
�)� #4����������� ����

�	
�� �����	����� ���� ��
������� ��
��
�� ��
��� 
�������� ���� �	
����� ��
�� �
�	�3��
���� ��
��

����
�3��������6	

���
�)�

#�����
�����������������
�����	�
��
�����$��
������3����������	
�����	
��������
��������


��
�3�������

��������&	����������������
��)�#������������
�������	�������
������������4�
��

��

����� �� 

� ��������
���
�� �����
��� 

�� ��$
��
��� ���������	���
��)� ����� ��
��R�����
�������
��

�	
������
�����������������������������)�

�#�� ��$�������
&���
����
��������
�
������������$�����
��

���	
�)�#�� ��
��������	
��
��

��������
��R���������������	���������	�
����
��3����
���&	����
�������������
�)�#���������
�

��
�������$�����
�����
���)�

74

��	�
������
���	
�����	
�� ���� ��
�����������������
����� ���3���������������� ���������

�	
���	�
����
��3�����
�����������	
��������������	
��
��������������
�����������
��)�������
���

�	����� ��� ��
������� �
�	����
�� 

� ���������
�� ��� ��� �	
���� ���� ����	��� �
� �	6��������� ��
��

��$������	
������������
���6	

���
�)�

��8!8#8 �����1������%	

#�� �	���� ��� �4�
��

�� ��
������ �������	���
�� �
� ����	
� ��� ����
�
����� ��� ����������
��


�������������� ���� ��
�����
�� �
��	
�� �	
�� ���� 3������ ����
�
���)�"
�� �	�
��	
� �	
�� ������� �
�

�	���� ��� ��� ��
������ ��
�� R���� ��� ]	
�$��� �
�� �	
������ �� ���
���� ��� ��
������ �
� ������
�� ����

�
�������� ��� ��� �	
$
�
�� �4	
��� $
����� Z�8>[)� #��� �&���
�� 	����
��� �	
�� �$�
�� �� 

�� 	
�

��
���
����	
$
�
����4	
�����5�)� �����������&
��
������

������	�������������
����
�������3�
���

��� �	
���	

���
�� ��� �4�
��

�� ��� ����� ��� ��� ���������	
� ���� ���� ��R���� ��� �
���
��	�
��� ���


	
�������������������$������������$������������6	

���
�)��

#����������(�
���	
���������
�����������
������
������$�������
��������*��	
���
�����
����

����������
���������
�)�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

GK�

�
��	
��
��	
���R�����������
��

�����
������������
��
����������������	���
�����������

��
��
�� �	
�� ��� �R��� �����
���� ���� $��
�� �
�����
��� �� NQ� �0� ����� ���� 
����
�� ��� �	3���

���	
����������3��������4	��������+HQ��0)�������
�������
��
���������]	
���4	�3����	��������

��������
���� �	
�� �	�
�� ��
��3���� �
������������	
�� ��� ���������	
� (��� �4�
����� ���� ���3��*� ���

�	�5��
����
���4����
����
������	����	
��������	
����������	����)�#�
�����
��
�������������
����
��

��	�
��� 

�� $��
��� ��$������ ��� �	
����
�� 

� ���	��� ��	�����
��� �4
��
�$�� ��� ����� �������
��

�
�	������$�����
��

��$��
����������������$�	�������)�

��8=8 ��%	+�%��*3	

��8=8/8 :+����)�%	-�	B���������2���	

#��� �����
�� �	
�� �	
����
��� �4�
��

��� �����
������� ����	����� ����	���
���
�� ���

�	
���	

�
��������R�������
�
���(B��*+�	�8=*)�#����
��

����	
�������
���������

������
����

������3
��	
��
������������4�
��$����
�������
�������
��&�����
�������������
��������
��)�

�

���*+�	�8=�Y������
��4�
��

�����&��������������	
������
����	
�������5���

#4�
���R��������������
������
����������
�����������
������	3�������6	

���
����
��R����

�	
�	���)� 7�� ������ ��E	
�� ��� ������������ ��
�� R���� �
$��
���)� ����� ���� �	
���	
� �
� 
	�3���

�4�����
����������������	���(	
�A�����B*��
������
)�

#4�
��

�������
��������
��R����

����X����

��&�������

���
��

������������

� �����



����
����

��	�
��\ �

.	
�����	
���	
���������������������
�������������
���	
��������
���	
��
��)�

��8=8!8 :�+B�+2����%	

#��$��
������������������
�������������������4	��������HO��0��������
�������
����JQ�

�0�Z�8/"[)�#����	3������	
���������
��
��R�������
���������

���	
������	
��
�������
�������
�

�&�����
��	
��
���
�� �����������
��������
������� ���3������
������
��4�����
����	
�Z�8//[)�#��

3�
�������	
���	

���
���������
������������������4	��������I�c)�

 	
������6	

�
��������
������

�����
����������3
��	
�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

GO�

��8=8=8 �1������%	

#��� �����
�� ��������� �	
�� ���� �	�
�� �
�	�3��
��� �
���
4���� 	
�� 

�� �������
��


�$��$��3��� ��5���
�����
����� ��� �	
$
�
���4	
��� (��� �4	��������TQSHQ���TQSGQQ*)�7����
��� ����

���&
	�	$���� ���� ����
���� ��������� �	
�� �
;	
��4&
�� ����	���
���� ��� ���3���� ($���
���

����
��
�� 	
��&����
�*� ��� ���� ���&
��
��� ����	
�����	
� ��� �	
�� ���$���
�� �����	������� 6�

�	�������
���	
$
�
����4	
���������������
���Z�8<[�Z�8/"[)�

#��� �����
�� �4�
��

������������� �	
�� �$�����
�� ���3����	 �̂�� �4

� �	���� ���
���� ���

��
��
�� R����� �	
�	����� ��� �
�� ��������� $��
����
�� ��
�� �
��$����	
� �	
��������
�� �
��

��������
���	
��
����
������)�

#4��������	
������$�����
����
��������$�=����
����$
���������
������	
��
�������
��
��

�������
��)�

��8=8#8 �����1������%	

�
������
$
����	������
����
������
��)�

+ 74

�� ����� ���� ������� �
��� �
�� ��$
��� �4�����
����	
� ��� �
�� �	
���$���

�
����	
����� ���
���
�� �4����������� ��� �4�
��

��� �
��	
�� �	
�� ���� $��
��

���	���
����	
�
���
�� �� 

� $��
�� 
	�3��� �4�����
��� (��
�� �����
�*� ���

�	
�� ��� $��
���� �	
$
�
��� ��� ��$
��)� ���� ��	3�5���� ������
�� ��� $��
�

�����
���������3�����JQ��0)�

+ 74�
������������3�
�������	
���	

���
����������������
�����
�����!���+�+

���������4	��������Ic��������
��R�����	�������

������
�����GQc�Z�8/![)�

+ �
��
������
��

���
4	
������

��3	

����

���
��
����
�����
�����	
����

�4��&�
�����
���
��
3�����)��

�	
����
��������	
�����	
���������
������������	
����������
�
�����
���������NQ�-�]�

����	�����
���
� ����	
����� �	����
������� ���������	
��
�������

�
��������
���� ��
����
������

��	3�5���������������	

�����
�)�7��
	
���
�������5������
���	
����
��R����
�$��$�����3�����

����
�
����	���
��R����������
��	������	���������6	

���
��������������� ��$
���� �����������

��
�������	
����	
������	
���
��)�#������
�������&�	���
����	
����	��������������
���	�����3����

�
�����
���)� #���	
�����	
� �
���� 3��
��
�� ��� ���������	
� �����

�
���	 �̂�
���� �� ��� �	��� �
�

����������
���$�
�)�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

GM�

�
��	
��
��	
�����������
������������	
����
��
�	�3��
��������
����������
���������

���������JQ��0����$��
��
�����	
���������������	���
������
����������
��4�����
����	
��	���
��

���
	�3�������	
���������$��
�)�

�
��
��

��;�

����
����������
���	����������������������
��

���$��
��$��
)�

7��
�����
���4�
��

�����	
�
�����3�
����
���������&	�	
��
��(0%�*�	
���
�X����3�
���

�
�������� ������	��$
����
�� (0%�*� Z�8!"[�� ������� �4	3��
��� 

� $��
� �	��� ����� 

� ���3���

�
�	�3����
��(���
��
������
����*)�

�������
��

��������4	3;������
	�3��
�������
�������
���������&5�����4�����	
��
	�������

���R���������
������
���
��������)�

 	
� �	
���	

���
�� ����� ������� ��
�� ��� ������� �
���
�����
����3
��� ���� 

� ������� ���

�
���
��� 
	��	
�� ���	���
���� �	
�� ��� �	����&�
��	
� ���� ���
��
���� �� 3�
��� �
��������

������	��$
����
����
��������
���
���
��������	
��������
��)�

���8 �.�������	4��	�	
�����8	

���8/8 
�B�������	K	��%��+�C*�	

#����������
����3�
����
��������������	��$
����
�����
����������
����������4�����	
��

�������
��
��������������
���	
���������
����	��	������!

������3��$������	���
�������
��	
�

��
���
��� �������
�)� ������ ����	������� ��
�� �������� ��
�� 

��� ��
�� 	
� 3��
� ��
�� ���� ��	���

����
��	
����� �!������)�#����	����� �����
��������	��	��
�������� ���
��
���� ��
��
���
�
�� ��

�
����	�������	�����������
���(G�7*�	
������$���(H�7*������������
��

������
��	
������������

�����
������ ���� ������� Z�8/=[�� &���$	
���� Z�8/#[� 	
� ����
$
������ Z�8/>[8� #��� ���
��
����

����	���
���J7��	
��	3��

��������
�&��R�����
�������$���(���
��
�����������3	����Z�8/0[*�	
�

���� �4�$�
����
�� ��� ��&5���� 	
� ����
3��� L���*+�	 �8#M	 ��������� ����	���
���
�� �	���� ����

���������4

������
����������
�(�
3��
����
3��
����
������
3��
���������
�����Z�8/'[\ *)�

7��
	
����������
��
����J7��	
���$�����
�����4��
������
�����
����
���������
��������

3�
�����
���������J7���
�����$���Z�8/?[)�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

HQ�

�

���*+�	�8#�Y���������������
��
��������	���
��)�

������ ����	������� ��
�� �	
�5��� ��� ��	������� ��� �	
��X���� ��� ��	��$���	
� ���� 	
����

������	��$
����
��)��������
��
������
��
���
�������;	
�������X������B���+�	B+�C*�������	
����

B���+�	%)�����)�

�����������
����������
�������������������������
���	
���
��3������3��
���
�� ���
��
��)�

�
���������	
����������������
���������������������	
����������������4	�����	
��
�	�������	
����

������)�/�
��������������
�������	
��
�����5����������%��%	��	2���-+�	)��2����Z�8/<[)�

 �� ���� ���
��
���� �������
���� �	
�� �� �4��&����� 	����
�� ��� ��������
�� ��� �	
��X��� ����

	
�����	
����������
�
������5�����������	
���������������	����������
��
����A���3�
����
��������

�&	�	
��
��B�(0%�*�	
��
�	���������
���&	�	
��
��)�#�
�����	���������	
���+��%)�%�,��%��	
��

�4�
����� �	
$
�
��� �4	
���)� 7�
�� ��� �	���
�� ���� ����		
���� 	
� ���� 
	���� A��� 3�
���

�
��������������	��$
����
��B�(0%�*)�����������	���������	
���
��	
���
������������	�����������

�����
������
������
��
�������	
����
������
���
��������
��	
������)�

#�
�� �	
���	

���
�����	
������ �4�
��	$��� �	������� �
���� �4��
���	
���� �&�d��
$���

�
�� ��$��� ��� �	
���	
� �4	
��� ���� ������	
�� ��� ���� ��
���	
�� ��� '��P���� �
�� $	
���
�
�� ���

��	��$���	
�����	
����������	��$
����
���Z�8!"[)�

"
����������4���������	
����������
��������� ������	������0��$$���
�� ����	���
�����

�4	����
�������
��	�
���
�GMGI)��	
��������
���
�����	�����������
����	
����
����!

���������

�	
�&�� ��� ������ (��$�
��� ��
��
�
�*� ���	���� �
�� 

� �
��	���� ���� ���	���� ��� 0��$$� ���

�	��	��
�� �!

� �
���3��� ��� �	
�&��� ���
�����
���� �����
����� ��� �
����	����� ��� ��
�5���

����	���
�)�%���������&����
������	
����$�=�����

��&�
	�5
���!�
�������
����	
���
�������
����

�����������
�����	
�&��� Y� �!	
����
����
������������������
�� ������&������&��
���
���������
����

��
���	
�&��)�7
������������������������	
�����	���
�������	
������
���������&���������
��
��

�

� �

4��	/
	 4��	!
	 4��	=
	



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

HG�

���&���$�� 3��
� ����
�� ���� 

��� ���� ����	��� �
�� �
����)� ������ �
����5��
�� �	
��� ��� ��
�5���

�	
���
������ 	
� �����
������ ���	
� ��� ����
�� �
� ���&���$��� �
�� ����+�R��� ����
�� ��� ���

�	
$
�
���!	
����������!�
$����!�
����
����
���6	
��
��
�
�)��	
�������	
����	
��	�������������

���
��
����
����	
�&������	��	������	����	����

����	����	
������	�������
������������	
�����

����4	��������<<G<<N�(B��*+�	�8>*)�

�

���*+�	�8>�Y����
������
����	������0��$$)�

�4���� �
� GMOK� �
4���	 7�,����1����	 Z�8!/[	 ���
�� ��� �&�	���� �
� ���	��� G7� �� ����

���
��
���� H7� ��� J7)� 7�� ������ ��E	
� ��� �	
�	��� ������&����
�� ���� ���
��
���� 
4���� ��
��

����
��
������4�
$����4�
����
��������������
���������3�
����
������������	3��

���	
���	
����

�����������	
������4������)�"
�����
��
���J7�������
��5����������������,�3�	
	����&��
�GMMG���

����3��������A�,�3�	
	�����B����������3����	
���������	
����	
��
������������	
����	�	����

��

3�
����
��������J7)�

#��� �&���&�
��� �
� �	
��� �
����� 	
�� ��	��� ��	
��� ���� ���������	
�� �
�������� �� ����

���
��
���� ��� �	
�� 
��
�������
�� �������� �� �����	����� ���� ��	�	�6���� �	
���	

�
�� �� ����

�	
$
�
��� �4	
��� �����������
��)� �
� ������ �	
�� ��� �	���
�� ��� ����
�
���� ���� ���������	
��

�	��
��3��
�	
���	�
�������	3�5�����
4�
������
�
����	����
���������������
��	
���	
����
��

$��
���)�/�
��� ���� ���&
��
���������X���	
�� ��� ���������	
����� ���
��
����	����
��� ������
�� ���

�������
�����&
��
����4
��
�$����	
����������		
���)�

.	
�� ���	
�����
��
�
�� �������� ��
�� �
� ������� ���� ��	�������� ������	��$
����
��� ����

�������
��0%����	
���3	
��������
��
���������
������	���
�������
��

��)�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

HH�

���8!8 :+�)+����%	-�%	%�+*��*+�%	4��	

�	
�����	
����
��

���������������

��������
�G7��	
���4���������	
��
��

����!���+

�+����� 

��������
� �	
�� ��� ����	������� ���� ��������� �
�� 

�� ��
��� ����
��	
)� #�� ����	��� ����

����
���� �
� �	
���	
� ��� ��� �	
$
�
�� �4	
��� $
����� (T$*� ��� �&��
�� �
�������� �	��� R����

�	����	

�����T$SN��������������
��)�

#4���
��
���	
� �4

��������� �&	�	
��
�� ���� 

�� 	
��� ���
�� �
��
����
��� 
	������ 	
�

	3���
�� ������� ��� ���
���� �����	�������
��� ��� �������	
� ��� ��� ���
������	
)������	�������
���

�&�	���
��� ��
��
�� R����� ����
���� ���� ���
����	
� �7�7� Z�8!![	 	
� ��
�� ��������
�� ���� ���

���&	�������������
��������
�����	
���������
��
����G7�Z�8!=[)�

���������������B��*+�	�80������
�������	�������
��������
������	
��4

�����
��
���G7��
�

�
����
���
	�������
����
���������
��)�

�

���*+�	�80�Y�/
��6����
����
������	
�	
��
��������	
��4

�����
��
�������	���
��G7)�

�
�	3�������
������	
�3���
��	�������
��������
������	
��

��3�
����
����������
�������

�������
�
����Q)�����������
�
����Q������	
���	
�����������	������������
���������(�������
�������

����
�����
���������G7*����������	

�������Y�

N

�λ

�

N

Qλ
�

B��	� �$��	�

B��	����$��#�	�

B��	���������	�

�

�
0
�

�����
�
����

0%��

��
�����
����
�����
�����

�
0
�

����
�
����

4�:	

��
�����
����
��������������

�Q�

�Q�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

HJ�

�	

�
�

εN
Q = � � � � � � ��(�8!*�

/����Y� �� ��� ��������� ��� ��� �
��5��� ��
�� ��� ������ �� �4�������
�� �4

�� ������ O+� ���

�����������������������
�����������
��
������)�

#�����$�
����������	�	
��
���
��
��������
��
���
�
	�3����������	�������������
��
���

��
����
���
��	
����������������������������������������������
������	
����
�
��Z�8!#[)��
�������

��
�����
	�3����������	�����������	���
�����
�����3�
����
��������������	�	
���(�!���+�+�������
��

������	��������������*������
������	
�����������������������������$��
�����
�����3�
����
������������

���
�
��(�����	�	
����$�����
�*�(B��*+�	�8'�		��	�8',*)�

-45

-40

-35

-30

-25

-20

-15

-10

-5

0

Fréquences

dB

8 plaques
6 plaques
4 plaques
2 plaques

�

���*+�	�8'��Y��	�������
��������
������	
��
��	
���	
��
�
	�3����������
��������e�fN)�

-35

-30

-25

-20

-15

-10

-5

0

Fréquences

dB

Epsilon 8

Epsilon 6

Epsilon 4

Epsilon 2

�

���*+�	�8',�Y��	�������
��������
������	
��
��	
���	
�����������������������������N�����
��)�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

HN�

����
��
�� ��� 3�
��� �
�������� ��
�� ��� ���� �4

�� ���
��
��� G7� 
4���� ����3��� �
4�
�

�
����
���
	�����)�

�4�����	
������������	
��
���������
��
����H7����J7�	
���������$�
����Z�8!/[����
�������

����

����������&�
	�5
���������	
��������������
�
�����
������������3�
����
���������
����
��

�	��� �4�
$��� �4�
����
������ �4	
��� ��
�� 

� ���
� �	
�� ���� ���
��
��� H7� ��� ��
�� �	
�� �4�������

�	
���������
��
���J7�(���*+�	�8?*)��

�

���*+�	�8?	Y�%
����
�����	
������
������������
��
��������
���

��3�
����
��������

#	���
4

��������
��
������� ��� ��	��$���	
� �4

�� 	
��� �
���
�� �	��� ��� �������	
� ���

��	��$���	
� ��� �	
�� 

�� �R��� 3�
��� ��� ����
�
��� 	
� ������ ��	��� ��� A�,��-�	 ����+-���	

�������B)��������
��
���������
��
���$�����
���������
��$����
�����������	�����
��	�������	
�

����� ��� G7�� ��� �
�� ��
�� R���� 
	
� 
�$��$��3��� �	
�� ���� 3������ ����
�
���)� #�� ���
���	
� �
�

�	�
����������5���
���������������$�����
���
�������
����	
������	 �̂��
�����	�����)�

/��4	��$�
����������
��
����0%��	
������
�����������
������	���
��	����
���	
�����������

������������������	����	
�������3����	����
��)�'�����������������	
����
������	���
������		
���

����	
���$�����
�������	�����������E	
����	���
��������
�
]�����
�5�����

����Z�8!0[)�

��
��������
��5����
�����
��������
��������	��$���������
�������
�
������������4�
��������

���������� ����&	��������������	
��	
��
�	������ �6�������	��������	
�����4	
���	
����������
��

���
��
����0%������	
����
���

����
������	�
��	
���	
��3	
�
	�3��������	3�5�����
��
����

��
��
�� R����� �	
��	
���� ���� �
��

�����)� /
���� ��	
��+�+	
� �
;	
��4&
�� ��� 
	�3��
����

���������	
�������������
��0%����
������	���
�������
��

��)�

g�

�

g�

��� ���������	
���
����



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

HI�

���8=8 ��%	2���+��*3	4��	-��%	��	-�2����	-�%	�������%	

#������
��
��������	6������
����������������
���	
���
�������
��
��R������

�����
��

	
���	�������
��	
�����������
��������������
���	
������	+����������
��)�

�����������
;��������������
�������������
����	
�����	
���
	�����
��Y�

• #�����	3�5����������������
�������
3�����������������
���������
	�����
���
����	3�5�������

�
����� ��� ��� $
���$�� ��������� ��
��� �
�� ���� ��	3�5���� ��� �	
���$�� �	
�� ���� �
��

���

���������)�

#�� ����	����
��� ��� �4�
��$��� ��
�� 

� �������� �&	�	
��
�� ��� ����� ���	
�
��������
��

Z�8!'[���4�����	
��
	������������
���	
��
���������	�����
3��������4�
��

������
�������
��������

	
���� ��� �
�����)�������� �	
�� ������ ��� ���
���� ���� ������� �	���� �4�����	���� ��� ������������ ���

�4�
��

����	�������� ���������	
��

�����&� Z�8!?[� Z�8!<[�� 	
�

����X��� Z�8="[)���� �6������

���
��
��� ��
�� �$�����
�� ������� ��� ������� ���
� �4�����
��� ���� �	���� �
�����
��� ��� �4�
��

��

Z�8=/[)�

• #��� ��	3�5���� ��� �	
��X��� ���� �������	
�� ��� ��	��$���	
�� ��� ���� �	3��� ���	
��������

�
&���
������	
������	��������6	

�
�)�

#�����	���������
��������	
���������������
���	
��
����������	
���	
��X���������������	
��

��� ��	��$���	
� Z�8=![� Z�8==[�� ���
���� ���� �	3��� ���	
������� ��� ���� �	3��� ��� �����
� Z�8=#[)� %���

��������
�� �$�����
�� ��� ���������	
� ��� ��������
��� ���
�� Z�8=>[� Z�8=0[�� 	
� ����3	���
���

����������
��� Z�8='[)� #�� ����������
�� ���
��� ��� �
���	8�� ��� ��$
��
��� ������ ��� �4�
��

�)� "
��

��
��������&���&�
�����
������� ������	�����������$
���$�������������
��0%���	
�� ���������

�

�	�
���Z�8=?[)�

• #���	�����	
����� �	3��������6	

���
����
��������
������	
����
���� ���3�����	
��	3��
���

����$��
�����	���
��)��

#4���������	
� ��� ��
�� �
�������
��� �	
�� ��� �
�� 
	
�� �	
���
�� ���� �4
��������	
� ���

���
��
����0%���	
������	8������������������������
��

��)�

�	
��������

����������

����X���������
��

������������������������
�����
��
����0%���

������� �4	3��
��� 

�� ������������ ���	���
��� ��
�� ��
�� �������	
�� ��� ��	��$���	
� 	��	�����

Z�8=<[�Z�8#"[����������
�����
��
�����	
����
�����
���)� ��������
�����
��
�����	
���������
�����
�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

H:�

�����������	�������
����� �������	
��	
���
�� ��	���	3��
���

�� ��
����������	
������	��$���	
�

Z�8#/[)�

"
���
��������	�&���	
��������������

��������
���3�
����
�������������

�����
���������


4�
�	������ ��
���
4

�� ��
��� �������	
� ��� ��	��$���	
� $�=��� �� 

����	�����������
�)� .	
��

���	
��������������
�������������
���
�������	
���	

���
��������
������������6����4�
��

�)�

���8#8 ��%	)�+���*���+	-�	�.�������	)�����+�	4��	�+��-	����	

#�����
���������4�
��

�����
�������������	�	����
�GMOI�Z�8#![�(�	����
����Z�8#=[*�����



�� ��
����/�������
���
������ �
� �����
��� �4�
$��
����	
� ��� ������������ 	3��

�� ����� 

�

���	��� ����������
�� ����	���
�� �
�� 

�� �
��

�� ��������)� #4�
��6��� ���� ��������� ����

��
�����
��������������$
���������
������	
������
����������������
����������
�����	
����	
�����

���	
�
��)� #�� �&�
	�5
�� �4�
$��
����	
� �
� $��
� ����� ������ ���
��
��� ���� ������
�� ����

�4��������	
��4	
��������
�����(���>6�P����*)�����6����4�
��

������3�������A��
��

����	
����

����
�����B�	
�A����>6�P������
��

��B�

��
�� ������ ��� ���
����� �4
��������	
� �4

�� ���
��
��� 0%�� �	
�� ��������� 

�� �
��

��

���
����� $��
�� $��
� ���� ��
����� ��
�� ��� ��3	���	���� ��� �4%���'� �� #��	$��� Z�8##[�� Z�8!"[��

Z�8!#[�� Z�8!=[� �
� �
��6��
�� ��� �&�
	�5
�� ���� ��� �&�	���� ���� �������
�� �� 3�
��� �
�������)�

#4�
$��
����	
��
�$��
����������3
����
����	���������	������
�����������
��
�������	
�
����0%��

�� ����
�)� ������ �
��6��� �� �3	
���� �� ��� ����� �
� �	�
�� �4

�� �
��

�� ���������� �	
��
�� ���

�������
��0%����������A��������	)�����+�	4��	H	-�B�*��B)�

7��
���� ��� �R��� ���
����� ���� 
������� ���� ��� 
	�3��
���&���&�
��� �	
�� ��������� ����

�
��

��������������Z�8#>[�Z�8#0[�Z�8#'[�Z�8#?[)�7��������
������
����������������

�����	�	��
��



����
�������	�	
���������&�
	�5
���Z�8#<[�Z�8>"[)�

�	
�� 3��
� �	����
���� ��� ���
����� ��� �	
���	

���
�� ��� ������ �
��

��� 
	
�� ���	
��

�����
���������������
������������������	
�����	
���
��	���
E�
�������4��
����4

�����
����
��

������
��
���0%���������
�)�

�
����������������5�����������
������	
�����	
��������������	
��4

��3�
������������
�

���
�������3�
����
�������)�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

HK�

���8#8/8 �+������	-.*��	,��-�	)�+2�%�8	

�
��	�����
�������	�������
���������
������	
����
��	
���4�
��
�
����4

�����
����
�����

���
��
�������	���
�)�����A�����
��B�
	
���
��
�	
���	
����
��
�������������	��������
������
�

G7���������
��R�����
�����
���	������
��

���������
��	
�

����������������������
����
�������

��� ��� ���
��
��)� "
� ����
�� ������
����� �	
������ �� �
������ �
� �����
� �
� �������
� 0%�� 

�

��������
���4

������
��	
�TQ�(�	���

���
��
�������������	������*)�

7�
���������������B��*+�	�8<��
������

�����
��
���A�������B��

���������4����������������

�����

���������
�����TQ)�

�

-35

-30

-25

-20

-15

-10

-5

0

2,00E+09 2,50E+09 3,00E+09 3,50E+09 4,00E+09

Hz

dB

�

���*+�	�8<�Y�%
��
�
����4

�����
���
������	�������
��������
������	
)�

"
� A�����
�� �������� 

� A�����B� ��� ���
������	
�� �!���+�+����� 

�� 3�
��� �����
��� (	
�

�������*����!�
�����
��������3�
����
�������)����������	
������������������
������
�����
���)�#��

����
�
�������������������
������	
��������������
��������
������
��	
���
�����
����4�����	
��

����������	
��
4�������
�������������������

�����������TQ���
��

�����
��
����������	���T$SN��

���
��������+�+����3�
������������
����
�������3�
����
�������)�

.	
�� ��
	
�� ��� ��������� �	���� �	
�� ���� ������� (�� ������� ��3�6+����	�*� 

�� �������

���	
�
��� �
���� ��
�����	���� ����+������&����
��)�/�
��� ��
���� ���� 	
���� ������	��$
����
���

�
��
����
���
	�������	����������
��

�����3���3�
����������
�
������	
�����
��������������

���
��
��)��4������
��������3�
����
���	
���	

����
	�����
��

�)�

����
�
���

 ��
��
������������
�

 ��
��
�����
������
�

��	�����	����	��������������



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

HO�

"
�� ���
��
��� ��� ��� �6��� �
�	����� ��
�� �������	
�� ��� ��	��$���	
)� 7	���� �4

��

��������	
� ����	������� ����� �	
����
�� �4	���� ��� ��;�� 

�� �
��

�� 3��������	

����� (��������

B��*+�	�8/"*)�

�

�

���*+�	�8/"�Y��������������6	

���
���4

���
��

��0%��3��������	

����)�

7�
�� 
	���� ����� 
	
�� �	
&���	
�� 	3��
��� 

�� �
��

�� �������	

����� ����� 

� ��
�� �	3�� ���

��6	

���
�)�.	
�����	
���	����	���
�� �������������������������� ��� ���
��
���������
�)��	
��

�������
��	
��������������	
������&������
����
����������
��
��)�

���8#8!8 ��)�+������	-�%	���2)%8	

#��B��*+�	�8//��������
���������
��
���G7��
��
���������
����������������

��	
������
��

�
��
����
���
	�����)�.	
���	
�	
��	3������� ��� ���������	
��
��&������������
�� ��
$�
�����

�
������
������������
�
����Q��
�����������
������	
)��

�

���*+�	�8//�Y����������	
��
��&������������
����
$�
������
������
��)�

��
G�
��
��
��
��
��
��
��
��
Q�
��

G�
��
��
��
��
Q�
��
��
��
��
+�G�
��

��
����
���

�������

'	�
����
��&������ ���������������
��&������

'	�
��� �������������� ���
�����6�������S��
�����	
��
����
����������

�$���*�

�$���<�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

HM�

#���&���� ��������
�� �����
��� 

� ]��	� ��
�� ��� ���
� ��� �6������� �����

�� ���������	
�

�
���6������
���������������������)�#4�
�����	
��4

����
�������������������	����	
�����������
��

���� �	������� ��� ������3
��	
� �
� �&���� (�&�	���� ���� ���$��*)� �
� 	
����� ���� ����
��	
�� �
�

�6��5����	
�����������������
����������6	

���
������4�
��

�������
��

��������	

��)�

#�� ���
� ��������
�� ��� �����
���� �4���
��$�� ��� �
��	����� ��� �	
��� ������������ ���

�4�
��

��(����&����
��\ *�����4��	�����4�
��

������	
�����������������
���	
�)�

���8#8=8 �+������	-�	�.�������8	

#4�
��

������	��	����������
���4

�������������
�������
������4

����
���������)�#��

������� ������
�� ������
������������� ��������5�������
���������������
���	��5���

��&�
��
��

��	�&�����TQSH)�#�����
��
�������������
���
��
����	��5������
��
�
������-�2��%���%	B����%��


	
�� ����	
�� ��
�� ��� ���	
�� �&������� �	���
�� ��	������ �� ������ �����)� #�� B��*+�	 �8/!�

�������
����4�
��

��0%�����
�����������
�)��

#4�
��

�� ���� �	
��
�� ��
������ �������� �4

�� ��������	
� ���� ����&��������� �
�� 

�

�
3������ ����������
�)� .	
�� ����	
�� ���� ��� �
���� (�&������� %%*� �
������ �	
�� ���� �	
����	
��

���
������
�3	
��	
���	

���
���������6��5��)�

#����������
�����������
���������B��*+�	�8/!��	
���	

��������Y�

N

Qλ
=� �@�

N

�
)

λ
= �@�

H

Qλλλλ
≈≈≈≈� � � � � � (�8=*�

�

���*+�	�8/!�Y� �&��������4�
��

��0%�����
����)�

0�

/�

'������

7���������
���

��

 	
����4��������	
�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

JQ�

#�� ��6	

���
�� ��������� �
��

�������
��� 

� �	3�����
������ �����
���
������ �
����
�

��������
���(B��*+�	�8/=*)�

�

�

�

�

�

�

�

���*+�	�8/=�Y��������������6	

���
������4�
��

��0%�����
����)�

"
� �	
���	

���
�� ���������� ��
�� �$�����
�� R���� 	3��

� ����� ���� �������
��� ���

����
�����
�����	���
���)��

���8#8#8 ��+*��*+�%	H	�)��%%�*+%	2*���)��%8	

7�
������R����	$��
������	
�����	
��

������
��	
������	���3������������
���	���������

���������	
��������	

���

��������
�������
����
�������������
�����������
���
��������)�

.	
�� ��	
�� �
� ;
��
4�� �����
�� �
�� ��� �	
���	

���
�� 	������� ��� �4�
��

�� ������

	3��

� �	
�� ���� �������
��� ��� ����
��� ��� T$SN� ��� TQSN�� ��� TQSH� �	
�� ��� ������)� "
�

�	
���	

���
�� ���������� ��
��R���� 	3��

� ����������
�������� ������� ����
����������+������
��

	3��

������5����
��������	
����	
��������	
�
������������
��
���Z�8>"[�Z�8>/[)�

/�
��������������
�����������
�������4�
��

�������

�
��Y��

N
*GH( Qλ

−= �� �@
N

*GH(
�

�)
λ

−= �@�
H

Qλ
�� = �/����
����������
�����)� � ��(�8#*�

�
� ���
���� ��� ����
��	

���
�� ���� �������
���� �������� ��
�� R���� �;
���� �
���
�� ����

������	
��(�8#*���������
��
	�����
���	
������&�
��������
�
��������	
������������������
���

����
��������
��4���
���������$����������4�
��

����
���)�

�$���*�

�$���<�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

JG�

#�� �	
���	

���
����� �4�
��

���6�
�� ���������
�����	����

�3���
� ���������� �4�
��

��

0%��������
�)�

���8#8>8 4����	-�	�.�������	4��	H	-�B�*�	

��* ����	���
����

��� �6��� �4�
��

�� ��
�� �����
���� 

� $��
� ��� �4	����� ��� JQ� �0� ����� 

�� ���
��
���

���
�����Z�8!=[)� 	
����
����������
���������3�
�������	
���	

���
���
��������5�����3���(hGc*)�

3�* /��
��$���

������ �
��

�� �������� ���� ����	���
���� �
�������
���� �
� $��
� �
� �	
�����
�� 

�

�
�	�3����
�����
����
��������
���
��	�������	
������������������
��������������)����������



� �	
�
���
�� ������� ���� �����
�� ��������� �
�� ��
��
�� �$�����
�� �	
�
��� ���� $��
��

���	���
��������������
����
������
������������������
���������	
�����	
���
�������)�

#��� 
����
�� ��� �	��������	
� ��	����� �	
�� ��� �4	����� ��� +JQ� �0� (�	��� ���������	
�

�/7%/##��&�������<%*������������	���3����4	3��
���

���	
3����	��������	
�	
�

���	��������	
�

����
���������������$��
����	���
����
�G7�Z�8>![)�

��* %
�	
��
��
���

#�� ���3��� ���$�
�� ��� 3�
��� �	
�� ���� $��
�� ������� ����
��� ��� ���
������ ����
�)� ������

�
��

�������$�����
�������������������������
	
������	
����
�������������
����&���������
������

�	����
�����
�������������
����	
�����3���)�

.	
����	
���
��	����	���
�����������$�
������������
��
����
����������4	3��
�������

��6	

���
��� ���������)� .	
�� ���	
�� �� �����
�� ������ 

� 3���
� �	��������� ���� �������
����

�
��

��������
����)�

��8 4����	
��	��������	����
	����	

�	����	
���������
�������
���������������4�
��

��������
�������
������&������)�

��8/8 ��2)�+��%��	-�	)�+B�+2����%	

��	��� ����5���� �	
�� ����� �
� �	�����Y� ��� $��
�� ��� 3�
��� �
� ��6	

���
�� ���

�4�
�	�3����
���������������
�������
����	����
��(���*+�	��8/#*)��



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

JH�

#��� �
��

��� �	������
���� (��������
�� ��� ��
�����*� �	��5��
�� ���� ����	���
����

�
�������
���� ����� ���� $��
�� �	���� ��� ���� 3�
���� ��� �	
���	

���
�� ���$��)��4���� �	
��������

����	
��
�������
��

����	
�����
������
��������
��
����������
���������&�)�

�

���*+�	�8/#�Y���������
����������	���
���������
��

��������
�����

�4���� �
� �	
������
�� �4�
�	�3����
�� �
�� ���� �����
�� ��� ���� �
��

��� 0%�� �� ����
��

����
����
�����
$����
�;�
)�

������
��Y������������
��

���$��
��$��
��	
���
���$�����
���	
�������� $ ���	��	�'�

���	�!� ���$	��	!�� �	�$��	� Z�8>=G	 �8>#[)������� �
��

�� �����	��	���� �4

�� �	
���� (

��	�
��*�

���
��
�
��

���������
����������	
����
���������&���
������
������4

��$�������	������
��)� 	
�

�
�	�3����
�� �����
�����
�������
���4

� ��������
������3	���
��� �4�������
����������� �
��

��

��������4	��������ITQ�(�	
��
�������
����JTQ���
����������4

���
��

�����������������Z�8>>[*�������

�������
�����
�������������� �4�
��

��0%�)�#�������	���
�����	
�� ��5���
�������
�������������

$��
����� �4	��������JI��0��

��3�
��� ���$��(��� �4	��������Kc*�������� �	3������	
������� ��5��

���3����(+HQ��0*�Z�8>=[)� ���	
�����	
������	������������������������	
���������
��	 �̂�
��)����

�6��� �4�
��

�� ��
�� �$�����
�� �����
���� 

� �	
���	

���
�� �
����������
�� Z�8>0[� 	
�

�
�������
�
����Z�8>'G	�8>?[)�

�	����	
�� �� �����
�� ���� ���
��$��� ��� �
�	
��
��
��� ���� �������
���� �
��

���

�����
����)�

��8!8 �1������%	��	�����1������%	

#������
��$�������
�	
��
��
����	
��������3������
�������,���*	�8/)�

�

�

5����

6�2��!��

��������
��

IQ��0�

��������
��

#�
������

NQ��0�

0%��

JQ��0�

�����
�

HO��0�

)���	��	�

"�,���	�	���
#�
������0%�� �����
�

*������	�	��� ��������
��#�
������0%�������
�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

JJ�

�5)�	-.�������	 �1������%	 �����1������%	

��������
������3	���
��

�

+ -��
��	���

+ �	 �̂����
���

+ #	3������	
�������

���3����

+ �
�	�3����
���

�������
���
��

+ �������������������

+ W	
���4	�3���

#�
����������������
��

�

+ -��
��	���

+ �&	���������$�	�������

+ �	����
�������

���������	
������$������

����
��
��

+ �
�	�3����
���
�

&�
��
��

+ �����������������
���

+ �	����

�����
���������

�

+ �
�	�3����
�� ���
����

�	
�	���3������$���

+ �	�����	
��
��������
�

+ /�������	
�

+ �	
���$������������

��
��������$
���

+ ���������	
�

�	�����
����
�

��������NQ�-�]�

/
��

��0%��������
��

�

+ �
�	�3����
�� ���
���

(���
��
������
����*�

+  �����������
�G7�

+ -��
��	���

+ 0�+�	��������	
��

�	��������	
�����
������

+ �	����
��������

�������
���

+ /�������	
�����������

+ 0�
��������
���

���3���

��,���*	�8/�Y��������
�������
�������
��

���$��
��$��
)�

/��������
�����������
���
�����;	
����������
������
��	
����)��
�����������������������
����

������
�������������������
���	
���
;	
��4&
�������
��������	
��������4	3;������
	�3��
������
����

�	
��	�����������
���	
���	

���
����4�
��

��0%��������
���
�������������3
���������
	�3��
��

���
����
��� ��
��
�� R���� ��������� �	
�� 	3��
��� ���� ����	���
���� 	��������)� %�� ������ ��

�
$��
�������3�
����	�������$��
���������	�����������&
��
�������	
�����	
)��������
�����	
��

������4	3;�������	
����	
�����
��	
��
��
��������	����

��������&5��)�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

JN�

.	
�� ���	
�� �	��� 3��5����
�� �
���� �����	�����
��� 	
�� �
� R����� ���	����� �� ������

�
��

������
�������	
������
	
���
�����
��	
���������$�
�������������������	���������
4	����
��

�����������
����3�
����
��������������	��$
����
�)�

�8 
����
::������	��������	

�8/8 ����	-�	�.�+�	��	5	�	�+��%	��%	

/
��	���
����
������������&5�������
4�������������������&
��
���������
��	

���
��

���	����� �� �4�
��

��0%�� ���
����)� #���&	��� �����������
�� 
4������ ���� ���������
�� ������ �
�

$��
�	
������3�
�������	
���	

���
�)�#�������
��	
������������
4�����
������	���������������

��
����
�� ��� �
������ ������ �	
�� ���3��)� /� ������ ��	�
��� ��
��� ��� ���
����	
� ��� �4�
��

��

���������������	

�8������������	���
�������	��������

�����
��
���0%���
�$��
�����
�3�
������

��6	

���
�)�%���������$�����
�����������������8��������������
�
�����
����������	
���	

���
��

�
��	
���	
������������
��������������
�����	
�&��)�

�#��$��
������
��	3��

����������HQ��0��
����
������HK��0��
��&�	����Z�8!"[�Z�8!#[��

�4��������	
��������������������

�����&�	
�

����
��� Z�8!=[)�#��3�
�������	
���	

���
�� ��5��

���
�����	
������$��
���	����(hGc*�
��������������������4�
��

���4�$�������������	���
��������

�
��

���������
���)�

�8!8 �1�����%	+����%��%	

7����E	
��������
�����

��������
�����8�������������	
�����	
��
	
�����	
���&���&�����

���
�� �	����
���� �	
� �	
���	

���
�� ��� 
	���� �4�
��
�
��� ��� �	
�� ���� �����5����� �
�� ����

����	���
��������4�
��

�)�#4���	���
����
��&	��������������
������������
������
����
���
�


	�3��� ��� ����	�������� ��� ��� ���
��
��� ����� ����� �
� �����
��)� 7�� ���� �&	��� ���	
���	
��

���������
�� ���� ����	���
���� �	��
�������� ��� �4�
��

�� �
� ������� ��� $��
� ��� ��� 3�
��� ���

��6	

���
�)�.	
���	
������	
���$�����
���
���������
��	

���
�� ���������
���

��$��
���

���	���
�����
���4	���������	
�����4�
��

����
���)�

/�
���
	
�����	
���&���&��������3���������5$��������	
�����	
�����������
��	

���
��

3������ �
�� ���� �3��
��� �
�� ��������	
�� ��� ��������� 

� �&	��� ;
�����
�� ���� �������
��

����������
��� ��� ���� ����
��	
�� $�	3����� ��� �4�
��

�� �
� �	
���	
� ���� ����	���
����

�	
&������)�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

JI�

�
���� ������ ���&	��� ��� �	
�����	
� ���3���� 
	
�� ��
����	
�� 

� ������
� 
	�3��� ���

���&
��
��� ��������
�� ��� ��
���� �4�
��

�� ��
�� �	�6����
��)� /�
��� 

� �	��	�����
��

�
�������
�
������� �4�
��

�� ����� ��
�����
������
�� �
� �����
��� ���� �	�
��	
���
������������

�	���� ��� ���	
�
��)�7�������� ��E	
����� �	3��� ���������� �	
��	
��R���� �������� ���
���
���
��

�	
�� ���� ����
�
���� �����
����)� ��
���
��� ���&
��
��� ��������	
�� �4�3	
���� �� ���

�	
���	

���
�� ��� ��� ��8������ ���� ����
�
���� ��� �	
���	

���
�� ����� ����������
�� ������

�	����
	
���������	
����
������&�������%%%)�

���� ��� �
����� 
	���� 	3;������ ����� �4����$��� ��� 3�
��� ��� �	
���	

���
�� �
�� ���� ���

���
����������
���������6����4�
��

�)��
��������������3�������������	��

�����	
���
$��
��
��

��
�� ������� ���� ��&����� ���� �&��$��� �
��

�� �	
�� ��� ��
�� �
� ��
�� $	
���
��� �
� ������� ���

3�
��)� %�� ������ ��	��� ����
����� �4�����	���� �4�
��

�� ��
����� �	���
�)� "
�� ��������	
� ��� ���

���
��
���0%���������
���
����	
�������
�� ��������������

���	�
��	
�����������������	3�5��)�

-�=��� �� ������ ���&	��� 
	
�� �
$��
���	
�� ��� ��E	
� ���	���
��� ��� ��	�
��� $��
� 3�
��� ���

�4�
��

�)��

�
��
�� �	
�� �4�������� �
�� ����
���� �
� ����&��� 
	
�� ��������	
�� 

� ���	�
��$�� �
�

�������
� ���
� ��� ������ 

�� �
��

�� �
����������
�)� ����� ����� �	���3��� �
� ������
��	

�
��

�	������
��������
��
�������
��	
������
��

��
	
��������������	
)�

�	
�����������
�����������5���	
����5��
�������	
�����	
�����
����&����������&��$�������

�
�
����������
�����&���&�
�������
��

���$��
��$��
�����$��3�
������
��
�	�3��
������������3���

�	 �̂�����4

��$��
����	�6����
��)�

��8 �
������
�	

7�
������&��������
	
����	
���
����
������������
�����������	�����
���4�
������
����
��

��������� ���� �
��

��� $��
��� $��
�� ������� �
�� �����	��

�����	
�� ��
�� ���)� #4�
��

��0%��

���
�������&��$��������������������������
��

������
������
������	
�3�����
���������&��������

�����
���)�

#��� �������
�� �� 3�
��� �
�������� �&	�	
��
�� �����
��
�� ���� ��	
��� ��;�
��� ��
�� ���

�	���
�������
��

���������
�����	���������	
��
��������������E	
�����������	
����
�����	
;	
���

��
������	���
��������6��5�����������
��)�



�&�������%�Y��	
��������������
����	
�����4��
��)� �

�

J:�

#4�
��

�����
�����0%������

�����������
����������
��
��������	
)�/��5��

�����������	
�

�
����
���������	
���	

���
���
	
����	
���
���������
������
�������������������������
��

�)�

#4�
���3����������&���&��������
�������
�������

���������	
�������	������������������

����	�3�����������

������
������	�	����

���
��

���	�����������	
��
����	�
����

��$��
���

�	�6����
�������
�����
��

��
���R����	����
������������������
�
�������)�

�

�

�

�

�

�



�&�������%�Y�0�3��	$���&��� �

�

JK�

0%0#%�-�/��%����/�%����%�

	

D�8/E	78	������(�����	A"	�$	��������	����A�
/.��../��/.70��2+��&�	�6�����������	
����
������$
)��&���GI)�

	
D�8!E	��+�	������
�G	�����	������;G	4�+��+-	6��9
	
A����	$	�������#�������������$����	�$	����A�

'���	P������
��	����������&
	�	$6���������i<	��HG+�
a:�i�HQ�;

��GMMM�i����NGG8NGN�

	
D�8=E	�8F8	��
��G	98	�����G	�8
8	
����G	:8	9�����	
�&����
�3		>�	��/
��

��7� %-.+�<	�)�G)�%���������	��$
�����P����� ������GI)����GOI)�

	
D�8#E	6�%�)�	�
���	
���&
��
�������4�
$�
��
�����������4������	
��
�+�C����	��	��?�+	�#��-!	��D�������
���Z��J�HON[)�

	
D�8>E	�8�8	����	K	78	�F���	
�C�&��	$$��	����	�����D�/.��../��/.70��2+��&�	�6�����������	
����
������$
)��&���HG)�

	
D�80E	����%	���������	
�AB������������� !�����$	��	!��������$�'���!
	��!�	��	$$!$���	�����$ !��$��������� !�	����	��	�'�����	�

���	����	��$	�����������-!	��!$����!��	�
A�

�&5�������	��	���+�
aJ:+HQQJ�"
������������#��	$��+�J�
	���3���HQQJ�

	
D�8'E	6868	���	
�A0	������	����A�/.��../��/.70��2+��&�	�6�����������	
����
������$
)��&���G:)�

	
D�8?E	��+�%��)��	��������	
�A*�!�	��	������������ ��,����������$$������-!	��'� $	���$$	�����$	����-!	���$��	���	�������	�����	��	��

�������	�
� ���$�������� '� $�� ���$�������� �	� �,��>�	�� �	� ��$�����!��������� #�!�� �����
A� �&5��� ���

�	��	���+�
aJJ+GMMM+�"
������������#��	$��+�GQ�
	���3���GMMM�

	
D�8<E	68�8	6����	K	:8�8	����	
��
�3		>�	��'%��� ��%��/.��../ +�<	�
���G)�����������$��

�����)��#	
�	
�"2�GMOM�

�

D�8/"E	9��	�
��	���	K	F��	����	
/���
�����
�����	�������
�����
����/.��../ +�1	&
�D%#�,�L� 	
���%
�)�GMMK�

	
D�8//E	:�*�	�8	�
�4��	
E6����8���	��?��
�����!�����������;������������;����	��	���7".�7�������GMMK)�

	
D�8/!E	��)���	�
������	
A*�!�	� �	� $ �$������	�	��� �	� $�� ����	� �������	� �	� ���	�!2� � ���	��	�� �������	�� 	�� ��$����������

����!$���	
�����	������	�����$���������	����	�!2�	������	���	��F�
A�

�&5�������	��	���+�
a:M+MO�+�"
������������#��	$��+�GI������3���GMMO�+���$��NN�

	
D�8/=E	:8�8	����������G	�8	:����	
�A�#���������������������G�8���	������$��-!��	�$�����	�?�&-!��	���������!$�������A�

�&6�����������P�0��<	�
���N:��.
�3���O��GI�/
$
���GMMH�����NMKJ)�

	
D�8/#E	
8	��������G	�8	6
�����G	��-	
8	4����
	
�A<	2�����$��#�����������8�������!��!�	�A�

�&6�����������P�0��<	�
���IJ��.
�3���GG��GI�'���&�GMM:�����KGJN)�



�&�������%�Y�0�3��	$���&��� �

�

JO�

D�8/>E	�8	:�����	��-	�8	�8	����
�
��	
�A�#���������������!��!�	�����G�8���	������$��,��	��?�+#	�������!$���$�����	A�

�&6�����������P�0��<	�
���NN��.
�3���G:��GI����	3���GMMG�����OI:I)�

	
D�8/0E	98�8	�
G	�8�8	����G	�8�8	�
�9
����G	�8	4��F��	K	�8	�������	
�A�#���������������������#�		����	������?�H	G�$�,	�8�,8$�,	���	����������!��!�	�A�

 	���� ������	��

�����	
���<	�
���OM�(GMMN*��NGJ+NG:��

	
D�8/'E	�8	7�4�
�
�����	K	�868	�������	
�A�#���������������!��!�	?�+#	����	8�	��	�	�8�!��������	A�

1)����)� 	�)�/�)�/�i�<	�
���K�i�.aM�i� �����3���GMMQ�i����GKMH)�

	
D�8/?E	
8	�
�
��G	�8	4�����G	�8	6
��	
�A�#�������������������	������	�������$�$�����	������$���	�����	�A�

�&6�����������P�#��������<	�
���MQ��.
�3���HJ��GJ�1

��HQQJ�����HJJMQG+G)�

�

D�8/<E	�8	��7�4G	48	�����9G	�8	��
��	
E&��!��!��$���$����������!�	I�&���YSS$�����)��6�3)����)��S���S ��
��
����	�	��%
.��
��+HQQJ)����

�

D�8!"E	��+�	������
�	
�A���$,�	��������	�	���$	� 	������	�������	���������!2����$	����-!	��'�����	� ���	����	��#�����-!	
�

���$��������'�$ ��!�	�	��'�$������	������� !����!
	�!��,�	�� ���	��	A�

�&5�������	��	���+�
aJN+GMMM+�"
������������#��	$��+�GO�
	���3���GMMM�

	
D�8!/E	�8	7�4�
�
�����	
E��#����	���������	�!��	�������������$��8����	��#,���������	$	��������I�

�&6�����������P����������<	�
���IO��.aHQ��GO�'�6�GMOK�����HQIM�

�

D�8!!E	�8	������
�G	�8	�����;G	48	6��9
		
E:
1
+
1
��������#��������	$$�����
)
5
����!��!�	j�GMMM�%����
3���&�
$�#���

�

D�8!=E	��-+��	������	
A����	�����;����$��������	������������������� ���	��	��'�����	� ���	����	��#�����-!	
����$���������!�

���������A�

�&5�������	��	���+�
aIK+HQQH+�"
������������#��	$��+�HO�
	���3���HQQH�

�

D�8!#E	�5+��	���7:�	
A*�!�	� 	�� !��$�������� �	�� ����������� �	�� �������!2� )���� '� ����!�� ��!�� $�� ����	������ � ���	��	�
A�

�&5�������	��	���+�
aJN+HQQG+�"
������������#��	$��+�HI�������3���HQQG�

	
D�8!>E	�8	������
�	(	�8	������;	(	48	6��9
	
AJ������#	�"	�������$� &���	����$,���������	������#	�"�������������	��� ����	�� �,� ��)�!��	���)5�

��,���$
����$������������#	����	����1	����A
�

���#� *&+*�� ���	���� K��L�#��� ��� ����
���
	� �	������� ���	����8� HBB"1K�MF� 8� +<*�

H*+<*"0�H1&�8�(�6�,�8��M!�	��((��8���
����8���
�

	
D�8!0E	:8	
�	�����	
A�#�������)����������	���������������	�������������G�
	�����.&!�/��$$��	��	�G�
	����$��������A�

%
���
���	
��� 6��	��
��	
��
��

����1%./�HQQH��.��������
�������HK+J:�

	
D�8!'E	�8	������G	�8	4����;G	�8	4
�������	
A���$,��������#	���������������	���	��������$��������	����������#���������,���$��!������	
A�

'��&)�'��&)�/���)� ���
����i�HQQG�i�HN�i����GQHG+GQNH)�

�



�&�������%�Y�0�3��	$���&��� �

�

JM�

D�8!?E	�8	�
�A��
G	48	�������AG	:8	
�	�����	G	�8	�
�
���	
E�����
	������#����	�����	��������	��,�!������#����������������!������	�I�

'���	P�������)����&
	�)�#���)��HN��HQQQ�����HGJ+HGI�

�

D�8!<E	68�8	�
�4���G	78	������(����	
E�����	�� ���	���� ����	��� �����
	�	��� �#��!�#� �!������	� �	���������� ��� #��#� ��	$	������ ���������

���	���$?����:1+1�	
�$!�����I�

'���	P�������)����&
	�)�#���)��<	�)�GO��GMMO�����HK+JH�

�

D�8="E	�8�8	4�
F�	��-	48	�����
�	
�A<��#�=	���#�$����	���
��,������������$	����	����������#���������,���$A�

/��������&6�����#�������i�<	�
���:O��.aM����3�
��6�GMM:�i����GJQQ+GJQH�

�

D�8=/E	�8	�8	��
���9
G	78	�9�
�G	
8	����
�	
E���$�������� ��� �)5� ����������� ����!���� ���� 	�#������� �#	� �	��������	� ��� #��#� �	����,� �!������	�

����#����	����I�'���	P�������)����&
	�)�#���)��<	�)�JH��'���&�HQQH�����JNQ+JNN�

	
D�8=!E	 :
������	 L�MG	 :
�������	 L:MG	 ���
6
�4�	 L9MG	 ������	 L�MG	 �����	 L:MG	

����
�	L�M	E*2�	���	���$���������������	����������$	������	��	��$$����#������������������	���$I�
'���	P�����
�����)����&
	�)�#���)��<	�)�HH��
aG��1
�6�GMMM�����GQ+G:)��

�

D�8==E	�8	:
������G	:8	:
�������G	98	���
6
�4�G	�8	
����
�G	�8	������	
E����
	��	��$$����#�������������������	���$��.6*)5/?�	2�	���	���$��	�!$�������	����#��	��E�

%�������
�����	
��	
��
��

����
����	��$���	
��NO��
aG��1�

��6�HQQQ�����GGK+GGM)�

�

D�8=#E	�8	:
������G	:8	:
�������G	98	���
6
�4�G	68	���
����
G	�8	������G	��-	
:8	�����	
E+#	��	����$���!�,������������$��	���	�!������!������	��$$����#�������������������	���$��.6�)5/�E�

'���	P�����
�����)����&
	�)�#���)��<	�)�GO��
aG��'�6�GMMO�����JH+NG)��

�

D�8=>E	�8�8	�����G�8:8	9�����G68�8	���
��7	
j7��	����
��

���
����P��&����+������������P		�������&	�	
��+3�
�$����������	��Y�-��
��������������
���

�
���
�
��������
��j�

'���	P�����
��	����������&
	�)�#���)��<	�)�HG��
aJ�'�6�GMMM����GMG+GM:�

�

D�8=0E	�8:8	9�����G	68�	���
��7G	48�8	������7G	�8�8	�����	
A���	�����	�����G��#��#	�!�	�����#�����������8�������	���$������$$���	$	�������$������	�$	�����A�

'���	P�����
��	����������&
	�)�#���)��<	�
���GG��
aN��'���&�GMM:����G:M+GKN�

�

D�8='E	�8	������
�G	�8	�����;G48	6��9
	
I����	$	�������#�������������$����	�$	����I�

'���	P�����
��	����������&
	�)�#���)���<	�)�HG��
a:�1

��GMMM�����NGG+NGN�

�

D�8=?E	�8	�8	F���7G	98:8	�������G	48�8	���
���	
I�#���������,���$�#������������,����	����I�

�&6�����������P����<	�)�:O��QG::QM��HQQJ�����G+:�

	
D�8=<E	�8	�9����G	68	
����
�G	
8	���4�����G	
8	��::���	
�A��#��#$,����	���
	�����$	����	����	��	���	�����������,8�	�����,�	���
��,A�

%����'���	P�����
��D���������	��	
�
���#��������<	�
���GH��.aH����3�
��6�HQQH�

�

D�8#"E	68	
����
�G	�8	�9����G	
8	���4�����G	
8	��::���	
�A*��	��� �!��8��$$����������!���	����!��	��#,�	����-!	��	��'���
����'�����	� ���	����	��#�����-!	
A�

GH5����1	
�
����.���	
�����'���		
�����G:+GK+GO�'���HQQG���%�%�� �+:�G�



�&�������%�Y�0�3��	$���&��� �

�

NQ�

D�8#/E	�8	4��F��G	�8	
A4�7G	48	�����9����G	�8	4�7��
��G	�8	�8	�������G	98�8	�
	
�A*2�	������$$,����	������$���!��	��G��#��#�����������8������,���$�A�

1)����)� 	�)�/')�0�i�<	�
���GO��.aGG�i�.	���3���HQQG�i����G:ON+G:OM�

�

D�8#!E	
8�8	6��9�
�G	�8�8	���;
:
��
�	
�A5����	�#���	�	����	�#�������������	������!������	����A�

%�������
�)�	
��
��

����
����	��$���	
��<	�
���/�JJ��
aM�� �����3���GMOI�����MK:+MOK)�

�

D�8#=E	�878	7���G	�8�8	���;
:
��
�	
�A5����	�#���	�	����	�#�������������	������!������	������#��!�#��!$���$	��!�	������	�A�

%�������
�)�	
��
��

����
����	��$���	
��<	�
���/�JI��
aK��1
�6�GMOK�����O:Q+O:J)�

�

D�8##E	��+��	���-+���	
����	
A�������!�����'�$ ��!�	��	���������!2�'�����	����	����	��#�����-!	
����$�������������$	�������	��	��

���	��	���������	�A��&5�������	��	���+�
aNQ+GMMO+�"
������������#��	$��+�O�	��	3���GMMO�

�

D�8#>E	�8:8	������
��	��-	68�8	���
�;
��
�	
�A<��#�������$��������	����!������������	��������$$,��	�$	���
	��!����	�A�

%�����	�)+'���	P)�/
��

�����	��$���	
��<	�
���GNO��.a:��7����3���HQQG�i����JNI+JIQ�

�

D�8#0E	���	���G	�������	��	
A<��#����	���
��,�����#����	����G��#����#��#����������������!������	������#�����������������
	�A�

'���	P�����
��	����������&
	�)�#���)��<	�
���JQ��
aG��1
�6�HQQG����NG+NN�

	
D�8#'E	�8	�������G	:8	�
����G	�8	������	
AH	��8��	$����!�$�����	�G		���������	�����	����������:���,8�	�����	�������?�*2�	���	���$���!�,����

�#	���������������	���	�������$$��	��	�G�
	���	-!	���	�A�

'���	P�����
��	����������&
	�)�#���)��<	�
���JO��
a:�� �����3���HQQJ����NJO+NNJ�

�

D�8#?E	�8	4
���7�4G	98	���
6
�4�G	�8�8	���
�	
�A1��	���
����� !�	����!��!�	����	��	��������!�'�)��7��
����:���,8�	���A�

GJ5����1	
�
����.���	
�����'���		
�����HG+HJ�'���HQQJ�#%##��+J/J�

�

D�8#<E	����2	4
���7�4	
�A*�!�	� �	�����!��!�	�� �������-!	�� �$�����	�� 	�� �������	�� �������	�� �!2� ���	��	�;� ���$�������� �!2�

����!��������������$	�A�

�&5������7	��	����
aHMNH��"
��������������..� �G���	
��

�����GH������3���HQQJ)�

	
D�8>"E	��P�	4�����
	
�A+	�#��-!	��� ���$����������!����������	���$	�	�������$	����-!	�
����$�����$����'�$�����!�������	�$��

���$$	��	�����	��	����!�����������	����	�J6+&A�

�&5������7	��	����
a�7�QJ+HG��%
����
��.���	
������� ���
����/�����
���������

�����	
��

�����GO�

�����3���HQQJ)�

�

D�8>/E�
�1�-	�8	6��9�
�	K	�+��*+	�8	
�����	
E��0	�L,�K�
	� ���$,��������#	�<��#8����� �����	�� ���	���� ������!������I� %�������
�)��
�/
�)�L�

��	��$���	
��<	��J:��
aK��1
�6�GMOO�����MQI+MGQ)�

�

D�8>!E����I�Q�	
�4����	
E���	��	� ��������	� '� )��� 	�� ��$���������� ����!$���	� ��!�� $�������<	��=�	��	I�1	
�
��� .���	
�����

'���		
����(1.'*�HQQJ��#����)�

�

�

�



�&�������%�Y�0�3��	$���&��� �

�

NG�

D�8>=E�F��B����	���A��G	
���2�+	:��A	K	��5%�*�	��(��9����	
E6�$$��	�	�8K�
	� ��$�	�� �	�$	����� ���	����� G��#� #��#� ����;� $�G� $���;� ���� $�G� �����$	I� %����

/
��

�4���
����	��$���	
���$�]�
���<	��NN��.aJ��1

��HQQH)�

	
D�8>#E�
���2�+	:��AG	F��B����	���A��	
E:�$�	���	�$	������,����	���I�������	
������������<	�)�JN��.aM��/�����GMMO)�

	
D�8>>E�F��B����	���A��G	
���2�+	:��A	K	��5%�*�	��(��9����	
E�(�5<=�����$	���$�	���	�$	��������	���I�������	
������������<	�)�JO��.aGM�� �����3���HQQH)�

�

D�8>0E�F��B����	���A��G	
���2�+	:��A	K	���B	��4����	
E�����5<=�:67�K������������8	���G��#���$�G8�����$	�$�G�$���������	�����	���I�%�������
�����	
��

	
�����	P�����&�	�6��
�����&
��
����<	�)�NK��.aGH��7����3���GMMM)�

�

D�8>'E�F��B����	���A��G	��5%�*�	��(��9����G	�848	��:�
��	�
:�A	
E���������	��!�	;��!�$���	-!	��,������	�����	����.%((�6<=������(�5<=/I�������	
������������<	�)�

JK��.aGK��/
$
���HQQG)�

�

D�8>?E�68�8	�������	
E1	�����������!�$���	-!	��,��	�$	������,�!��������������������L	������#	�����
�����$	���=	I�������	
���

���������<	�)�JH��.aGH��1

��GMM:)�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�

�



�&�������%�Y�0�3��	$���&��� �

�

NH�

�

�

�

�

�

�

�

�

�

�

�



�&�������%%�Y����3	����	
��4

�����&
��
������	
�����	
��	
��

���
��

��0%��������
�)� �

�

NJ�

�

�

�#/0��/�%�.�74".������.%9"��7��

��.����%�.���"��".��/.��..���#/./%���

0%��/�7��/"�)�

bbbbbbbbbbbbbbbbbbbbbbbbbbbbb�

�

� Introduction 

� Méthode de conception de l’antenne planaire 

� Validation 

� Interprétation 

� Conclusion 

�

�

�

�


�����������



�&�������%%�Y����3	����	
��4

�����&
��
������	
�����	
��	
��

���
��

��0%��������
�)� �

� �

NN�

�

�

�

�

�

�

�

�

�

�

�

�

�



�&�������%%�Y����3	����	
��4

�����&
��
������	
�����	
��	
��

���
��

��0%��������
�)� �

�

NI�

�8 ����

����
�	

� #��� �������
���� �	���3	����	
�� ��� �4%���'� ����� ���� �
���������� �
�� ������3
�
�� ���

�����	���
�����������
����������	��

�����	
����
�������
	
��	
�����
��������������������E	
�

���
���
����
��������&����������&��$�����3����
���	
��

��	���
���������
�
�����
���4���
��

���MQQ�'�]���NH�-�])�

#����
�
�������� �	
&����
�� ����	
�����	
��4�
��

�����
� �
�	�3��
���� (���
��*�� �����



�$��
����	���
�� ��� ����
����
����� �	3��� ���	
������� ���3���)��	
�������������
���� ����	
���

�4�
��

����3�
����
��������������	��$
����
�������������������	�
��	
���

	��
������	�	����)�

/
��	���
����
������������&5���������������������������	
���	��������E	
�������
��

��

�
��

��0%�)�#�������
��	
������������������&�
��
��������������������
���;
����������

�
	�3���

���	���
�� ��� ���
����	
�� �	
$
��� ��� �	 �̂�
���)� %�� 
4��������� ���� ��� ���&
��
�� ��	���� ��

�4�
��

�� �	
�� �������
��� ���� �����3��$��� ����������
��� �
� �	
���	
� ���� ����	���
����

�	
&������)�

�	
���	
�	������	
���������E	
���������������������
���������
�����&����������&��$������

������ ��	��� �2)�+�����-.���,�+�+	*��	 ������C*�	-�	 �����)����� ���	������� �4�
��

��0%����

����
�)����������&
��
��������4	3;����������&������)�

�	
�������

�������5����������	
���������	����
�����4�
��
�
��������������
��������
���

�
�� �	
����
�
�� �4�
��

��� ��� ��
�� ������
��5����
�� ��� ���
��
��� 0%�� �
�� ���� ��� ���� �
�

�	
���	

���
�)� /�
��� 

� �
���3��� ��� ���
����	
�� �� ������� �4���3���� ���� �3��
��� �
��

��������
���
;	
��4&
������&	����������������
������������
��������
���$�
����
���
��	
���	
�

�
�$��
�	
���� ���3�
��� �	
&�����)����� �3��
��� ��
���$
�
�� �$�����
�� �
�� ��������	���
����

$�	3�������������
��

��)�

"
�� ���	
��� ������&�� �	
������ �� ����
��� ���� �������
���� ������� �� �
����� ��
�� ���

����
��	

���
�����������������	����$�	3�������	

������4�
��

�)�"
����
�����	�
����5
����

�	
���������4��������	
�����4��������	
��
�����	�����)�

���������&	���������
�����
�����������
��

�����������GH-�]��
����������4�
����������

����	��	�����
���
���6	

���
���������6����4�
��

�)�



�&�������%%�Y����3	����	
��4

�����&
��
������	
�����	
��	
��

���
��

��0%��������
�)� �

� �

N:�

��8 ����

�	 
�	 �
���:��
�	 
�	 �.�������	

:�������8	

������ ������� �����	
������� �
� �����	�����
�� �4

�� ���&
��
�� ��� ����$
� ������
��� ��

�4�
��

�� 0%�� ���
����)� ���� 	
���� ��� ���5����� 
���������� �� A��4&	���� ��� �������B� ������
��

�4�����
����

��	
���	

���
��	��������������6����4�
��

�)�

7�
��

����������������4��
�������	��������
������&	��������������
�)�

��8/8 ����3	-*	2���+��*8	

#��������3��$����	���3�����	
�����������

�����
��
�����3�
����
��������	
��

��$��
���

�
��
�
����
���
4���� �������
��
�� ��������	���
�����	��
���������
�$��
����3�
��������
������

�4�
��

�)�%�������	
������
�����������	�������
�������E	
����
	�3����������	����	
��
�	�������

��	�������� ��������
��� ���� �������
�� ����	6��� ��
��
�� �
��
�
���� ��� $��
� ��� ��� 3�
��� ���

�4�
��

�)�

#�������	���
�����	��
����������
��
��R�������
���������4	3�������	
��
��	�������
�����

���
������	
��
��
����
���
	�������4

�����
��
���0%�����������
�)��

��������
�������������������	
���������
��
��������������
��������

����
����������	
����

����	�������(G7*)�����
��
�� ������
����������������3�����������
��	
����������
��
����H7��J7�

	
���������
��)�

��8/8/8 �5)�%	-.�%%�2,����%8	

�������
���
��� ���� ���
��
���� �� 3�
��� �
�������� ������	��$
����
�� �	
�� �	
����
����

�4

���������
������	���
���������
�������������
����4�������
��T$SN)�#�����������
����	
��

��������� �� ������� �4�
��	�
�� ��
�� ����������
��� �������
��)� #�� ��
�� ������� ���� �4�����
��� ����

����
��� ��� ����������
�� ����� ��� �4����� 
	
�� ��������	
�� ��� �6��� ��� ���
��
��� A��� ����B)� #��

���	
����	�
��	
��	
�������������3������
������������
�����������������������������������
�����

���������
��
���������������A���
�P��&�B�(B��*+�	��8/*)�

#�� ��
�P��&� �����
��� 

� ���
��$�� �	
�� �4�
�	�3����
�� �
���
�� ���� ������ ���

����������
�� ���	
�� ��
�� ��
��� �
�� ���� ������ �4����� ����� �$�����
�� �	
�� ��� ��$������ ��� ���

���������������	
�����	
)�



�&�������%%�Y����3	����	
��4

�����&
��
������	
�����	
��	
��

���
��

��0%��������
�)� �

�

NK�

�

���*+�	��8/Y��	
��$
����	
�A���
�P��&�B�	
�A�������B�

�
�����
�&��������
��
���A��������B�������R�����������$�����������	�����	��������

�����5���

���	���
�)��������
��

��
����������	
���	���������������	
������	�������	
���
���	
�����������	
�

��������
��������

���������
���	
���
�)�

��
�����
��� ���� ������� ����������
��� �	
�� 

� �����5���� 
	
� 
�$��$��3��� �
�� �	
����

	���
��������&	��������

�����
��
���A�������B)��

��8/8!8 ���BB������	-�	C*�����	-�%	%�+*��*+�%8	

#�����
��
������	
�
�����
��R��������
����������������	
��	�������
������
����������
����
�

�	�������
��������
������	
����������
��
���������
��B��*+�	��8!)�

�

N

�λ
�

N

Qλ
�

7���
��

�
�TQ�

��

-15�

-12�

-9�

-6�

-3�

0�

Fréquence�

dB�

��"�	�

∆∆∆∆�B�	�

�

�

���*+�	��8!�Y� �&�������������
��
������������
�����������������	�������
��������
������	
�

���
��)�

�

�
����5���������$�
��������3�
��������
�������+�
����
����
���	
���������Y�

�)�

�
N

J−∆
= � � � � � � (��8/*�

 �
�P��&� /�/���



�&�������%%�Y����3	����	
��4

�����&
��
������	
�����	
��	
��

���
��

��0%��������
�)� �

� �

NO�

/���� �� ����
�
��� ��
������ �
� ���� ��� ���
������	
� ��� k�8��)� ��� ���$�
�� �
� ���� �� ��+

�
����
��)�

����	�������
�� ��� ���5��� ��5�� 
������������ �������
��� ��� ������
��� �	
�� �4��������	
� �
�

$��
����������3�
�������4�
��

����
���)�#����3��
������������������������3�
����
���6	

���
��

���	
����
������3�����
��	
���	
��
������
������
�������������
��
����0%��������
�)�

 �� ����
�� ��	�
�� �
� �	
���	
� �
� 
	�3��� ��� ����
��� ��
��� �
�� ��� ��
�� �������������

��������)��������������
�����	
���������
��
�����
��6���A���
�P��&�B����A�������B)�

��*  ��
��
���0%��A�������B�

�#�� B��*+�	 ��8=,� �����
��� �4��	�
��	
� �
� �����
�� ����
������ �	
�� ���� �����3��$��� ���

����������
�� ��� �4���� �
� �	
���	
� ��� ��� ������������� ��������� �
��������
� ����������
�� ��� �	
��

�������
���
	�3�����������
��	(B��*+�	��8=�*)������	�������
�������
������	
����������
�����������

���&	�������������
��������
����D��8/E)��

�

���*+�	��8=��Y�%��
������	
��������
��
�������
�����������A�������B)�

#�� �����
�� ��� �
������ �
$��
��� �� ��� �	��� �
� �	
���	
� �
� 
	�3��� ��� ����
��� ��� �
�

�	
���	
������
�����������������������)�

#4�
��
�
������ ���������������������
�� ��5�����	���
��� �	���
�� ���
	�3����������	����

�������	���
�)�7	
��

��	����	�������
������
����������	3��

���
����������
���
��
�������
�����


	�3��� ��� ����	����� 	
� ��
�X�� ��� 
	�3��� �4�
��������� �
��� ���� �4	
����
4�
� �
$��
��
�� ���

���������������������������
���
�������)�

�

TQ� TQ� TQ� TQ�

T$SN�

TQSN�

�O���$�-!	� �O���$�-!	�� �O���$�-!	�� �O���$�-!	��



�&�������%%�Y����3	����	
��4

�����&
��
������	
�����	
��	
��

���
��

��0%��������
�)� �

�

NM�

�

�

�

�

�

�

�

���*+�	��8=,�Y��	�������
������
���������������
��
���������
��A�������B)��

#���R�����������������������
���	
��������
��
��������A���
�P��&�B)�

3�*  ��
��
���0%���
��6�����
�P��&�

#��B��*+�	��8#,���	�����	
����

�����
��
���A���
�P��&�B��	
�����
���������������������

�
����	
���������
���������������3���������
����H�I�(�����3��$���B��*+�	��8#�*)�"
������
�����

���3�����������������������&	��������
�����	
������������	�������
�������
�������
�������
��������

��
��������	���)�

�
� ������� ���
�+��� ���� �4�
��
�� ��
�� ���	���
�� �
�� ��� �	
������� �4�
����� �
���� ����

�������
�����	
�&��� ���� �	��)� �4���� �	
�������� ����	
��
�� �����	�������
��� ����
������ 	3��

��

��
����������	
����
�����3�����
���	
��������
��
���A�������B)�

�

���*+�	��8#��Y�%��
������	
��������
��
�������
�����������A� �
�P��&�B)�

TQ� TQ� TQ�

T$SN�

TQSN�

�O���$�-!	�� �O���$�-!	�� �O���$�-!	��

P�Q�;��

���	��������	�

0

100

200

300

400

500

600

700

800

900

1000

2 4 6 8 10 12 14 16

Epsilon relatif des plaques

Q

2*1plaque 2*2plaques 2*3plaques 2*4plaques



�&�������%%�Y����3	����	
��4

�����&
��
������	
�����	
��	
��

���
��

��0%��������
�)� �

� �

IQ�

0

100

200

300

400

500

600

700

800

900

1000

2 4 6 8 10 12 14 16

Epsilon relatif

Q

2*2plaques 2*3plaques 2*4plaques
�

���*+����8#,�Y��	�������
������
����������
������������
��
���������
��A���
�P��&�B������	
�

�
���������������H�I)�

���� �3��
�����������
������&	����� ���� �����3��$����������������
��� ���
��4	3��
��� ���

�	�������
������
�������	
&����)�<	6	
���������
���
�������	
����������	���
�����	��
�����������

�4�
��

���
��	
���	
��
��	�������
������
���������������
��
���0%�)�

��8/8=8 :�+B�+2����%	 )����������%	 -�	 �.�������	 L-�+����1���	 ��	 ,��-�	 ��	

+�5����2���M	��	B�������	-*	B����*+	-�	C*�����8	

��* 7�����������

7��� �3��
���� ��������
�� ����	

�8���� ��� ������������ ��� ��� 3�
��� �
� ��6	

���
�� ����

�
��

���0%�����
�������
��	
���	
��
��	�������
������
��������� ������
��
���������
���	
���
�

R�������������(B��*+�	��8>*)������3��
����	
�����
���4

�;�
�������
����	
���7�7����	
����������

��;	
���	
���
��	
$��������&5��)�

#������
������	
������	3��

���	
���������
��
�������
������(G7*��������������

�����&�

�
�� 

� ���
� ��� �����)� ���� ���
������ 
�� ���

�
�� ���� �	����� ���� ������� ��������
��� 	
�

����������
��)�#����������������	�	��������

�������������������
����
���4���)�

�



�&�������%%�Y����3	����	
��4

�����&
��
������	
�����	
��	
��

���
��

��0%��������
�)� �

�

IG�

�

�

�

�

�

�

�

�

���*+�	��8>�Y���	�
��	
��������������������
��	
���	
��
��	�������
������
���������������
��
�����

����
�)�

#��B��*+�	��8>����������
����4����
�������������������	��
�����������4�
��

���
��	
���	
�

�
��������
�0%������	6�)�#���������������
$��
����	
������	�����	�������
�������
�����)�

#4��	�
��	
� 
4���� ���� ��
������ ����� ��	�	��� ��
�X�� 

�� ���
��� �	$����&���
��� ��� �
��

��������
����	���

��&�
	�5
�����A����
����	
�B������������������������JH��0)�

�#��$��
�������������� �	
���	
�������������4�
�����	
���;	
������
����������
���
�5�
���

��� �4�
��

�)� �	
�� ������ ����	
�� �	��� ��� ��� �	
�����	
� ��� �4�
��

�� ��� ����� ���
�
������
��


��������������&	�����

��	�������
������
��������
�����	���
�����
�����	���
�����������

��	
�

�
�$��
�	�����	

����������������������������
��)�

�
� �����
�� ���� �3��
�� ����� ��� B��*+�� ��8=,� ��� ���� �	���3��� ��� ������� ��� ������������

�	��
��������
��	
���	
����������������������������������������
��������
����	
��

�����
��
�����

����(B��*+����80*)��

/�
�����������	���3�������&	��������������
��������
��
���0%���
�������������4	3��
������

������������ �	
�
�)� %�� ���� �� 
	�����
�� ��
�� ��� 
	�3��� ��� ����
��� 	
� ��
�� ��� ������������� ����

����������
����
$��
��������
������������������	��
��������������	���
��)��

10

12

14

16

18

20

22

24

26

28

30

32

34

0 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750 800 850 900 950

Coefficient de qualité

D
ir

ec
tiv

ité
 e

n 
dB



�&�������%%�Y����3	����	
��4

�����&
��
������	
�����	
��	
��

���
��

��0%��������
�)� �

� �

IH�

14

16

18

20

22

24

26

28

30

32

2 3 4 5 6 7 8 9 10 11 12
Permittivité relative

D
ir

ec
tiv

ité
 e

n 
dB

2*1plaque

2*2plaques

2*3plaques

2*4plaques

�

���*+�	��80�Y���	�
��	
��������������������
��	
���	
������������������������������
�����������
��

(�	
��

�����
��
��������A�������B*)�

�3����	
���������
�� �4��	�
��	
���� ���3�
��������6	

���
���
��	
���	
������R����

����5���)�

3�* 0�
����
���6	

���
�)�

#��3�
����
���6	

���
�������������
������������	
���
��$�����3�
����	
�����
������

$��
� 
�� ������ ���� �
� ��E�� ��� J� �0� ���� ����	��� �
� $��
� �����
�� ��
�� �4���� 	3��

� �� ���

����
�
�������	
���	

���
�)�

#4�3��
��B��*+�	��8'��������
��������������
�������
����	
��������
���)�%�������	

���
�

�	
���	
��
��	�������
������
�������
��������
�������
�)�

#��3�
����
���6	

���
������	8���
��	
���	
��
������
������
�������	
�������
��������

����
�����5�����3�����
�������4

��	�������
�����OQQ)�

�	��������������
����������	���3���������
��������B��*+�%	��8=,	��	��8'��4��	�
��	
�

������3�
��������6	

���
���
��	
���	
�������������������������������������
���(���*+�	��8?*)�



�&�������%%�Y����3	����	
��4

�����&
��
������	
�����	
��	
��

���
��

��0%��������
�)� �

�

IJ�

0

1

2

3

4

5

6

7

8

9

10

11

12

13

14

0 100 200 300 400 500 600 700 800

Coefficient de qualité

B
an

de
 p

as
sa

nt
e 

en
 %

�

���*+����8'�Y�0�
����
���6	

���
���
��	
���	
��
��	�������
������
�����)�

0

2

4

6

8

10

12

14

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16

Permittivité relative

B
an

de
 d

e 
ra

yo
nn

em
en

t e
n 

%

2*1plaque

2*2plaques

2*3plaques

2*4plaques

�

���*+����8?�Y���	�
��	
�������3�
����
���6	

���
���
��	
���	
������������������������������
�

����������
��(�	
��

�����
��
��������A�������B*)�

��
�� ��� 
	�3��� ��� ����
��� ���� $��
�� ��S	
� ��
�� ��� ������������� ���� ����
��� ����

���	���
������
�����3�
����
���6	

���
�������
�����3��)�



�&�������%%�Y����3	����	
��4

�����&
��
������	
�����	
��	
��

���
��

��0%��������
�)� �

� �

IN�

�
��
�� ��� ���� �
�������
�� ��� ���
���� ��� 3�
��� ��� ��6	

���
�� �
� �	
���	
� ��� ���

������������	
��
�������
��B��*+�	��8<)�

0

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32

Directivité en dB

B
an

de
 e

n 
%

�

���*+����8<�Y���	�
��	
�������3�
��������6	

���
���
��	
���	
������������������)�

�������	
�3���
���
�������E	
�$�
��������������	���
�����4

���
��

��0%�����
�����

�	
E
��������������&
��
��������������
������&������)�#��3�
����
���6	

���
��������5�����3���

�	
����������������������������4������������
���������JQ��0)�

�	
�� ���� ���
������ 	
�� ���� 	3��

�� ����� ���� ����
��	
�� ��������)� ����
��
�� 
	
��

�	������	
;	
����	
��	
������������	3�5����������������	
��
���
�����������	
���4
��
�$��	
�

�
���������	
�������	
���
��������������
��)�#4��
����
���
�������
�����
���
��������	�	���	
��

�������������	
��������������	
���
��
���
��
�
������������	���
���)�

��8/8#8 ���%�,�����	-*	���BB������	-�	C*�����8	

�
�����	
��
�
	�3������	���
����������5������
���
������

�
����
������	
�����	
�����

�
��

���0%���
	
����	
���������
�������
����������
��3��������������
��

����
�����������	
��

������������	
�(��
����������4

���
��

������������
��G7*)�

�
������������&�	�����	
�����
4

��������
����$
�
���������������	���
���4	
��	
E	������

������� �
��

��)� #4���
����� ��� �������
�� ����������
��� ����	
�3���� ��
�� �������� �������� 

��

3	

�������
�����
������	
�����	
)�A�#4�����3��$��������B������������3��������������3�����	���

��������
���������3����������
4�
��������������
��l�



�&�������%%�Y����3	����	
��4

�����&
��
������	
�����	
��	
��

���
��

��0%��������
�)� �

�

II�

%������������
4�
;	
��4&
����������	���3�����������	�
����������
����������������
����	
��

��� ������������� ��������� 	������� �
���� H�H� ��� GQ)� 7�� ��
�� ���� ���&
��
��� ��� ����
$��� 	
�

A��	��	

��B� �� 3���� ��� �������
�� (�	���� �4��
��
�*� ��� ��� �	�6�5���� ��� �����	���
�� ���

��������
�������������������������
��A������������B�Z��8![)�

#��� ����������
��� ���
������
�� ����	
�3���� �
�� �������&�����

�� ������ 
	
� ��&�
������

�����	
�
����
������
E�����	
�������
�����
�����3�	/)�

'������������������������
�����������
����	
������
�����������������
��	
�����
	�����
��

��
�� 
	�������� �4�������
�� ���� ����
��� ��� �	
�� �	
�� �
��
�)� %�� ������� �����
�� �5�� �	����
�� ����

�������	
���4
��
�$���(�
��	
���	
������&�
��������
�
���*���������
������
�����
�������8���������

���������������� (�	
�� ������
������� �	
��
�� ��������������� ����
�
�����
�����
������GQ�-�]*��

�
�	
��

���
��
�
����
����������	���
����$�	3���������4�
��

�)�

�4��������
�� 
	
�� ��	
�� �	
�
�������� �
� �����
��� ��
����� ����$���&��� �
� ��
���
��

�.�1��*����	-*	���BB������	-�	C*�����	��	-�	��	B+�C*����	����+���	-�	��	,��-�	)�+2�%�	-*	

���BB������	-�	�+��%2�%%���	-�	��	%�+*��*+�	H	-�B�*�)�

"
�� ��
��� ����������
�� �&�	���
�� (�	��� �7�7*� �� ���� ��
��� �	
���
�
�� ��
��

���
��
���������
��
������R����	�������
������
������(�	
������R����������������	��
������������

HI�I� �0*� ��� �	
�� ��� ������������� ��������� 	
� �4�������
�� ���� ����
��� �&�
$�)� #4����
�� ���

������������� �����	������� �
���� Q� ��� GQ�c� ��� ��� ����
�� 
	��
���� ��� �4�������
�� ���� ����
���

������;
��
4��Gc��������	
$
�
���4	
���TQ)�

#�� �������� ����� ��,���*	 ��8/� �	
���
�� 

�� ���
��
��� H� �	��� N� ����
��� �6�
�� 

��

������������� ��������� ��� H�K)� #�� ���	
�� ����� ��,���*	 ��8!� �	
���
�� 

�� ���
��
��� H� �	��� H�

����
����6�
��

���������������������������O�:)��

#�� ����
�
��� ��� �	
���	

���
�� ������ ����� �4�������
�� ���� ����
���� ��	��� �
�� ���

�	�������
������
������ ���� ��
�� ��
��3��� �
���������	
����� ���������������)�#����������	
�� �	
��

�	�
�����	���
������
���������H��
����
���������G�����
	�3����������
������
�����
��)�



�&�������%%�Y����3	����	
��4

�����&
��
������	
�����	
��	
��

���
��

��0%��������
�)� �

� �

I:�

                  δε/εr1

  δe/λ0
0 2% 4% 6% 8% 10%

0 δf0/f0=0
δQ0/Q0=0

δf0/f0=0,26%
δQ0/Q0=8%

δf0/f0=0,53%
δQ0/Q0=15%

δf0/f0=0,76%
δQ0/Q0=23%

δf0/f0=1%
δQ0/Q0=31%

δf0/f0=1,23%
δQ0/Q0=39%

+0,1% δf0/f0=0,18%
δQ0/Q0=0

δf0/f0=0,44%
δQ0/Q0=8%

δf0/f0=0,69%
δQ0/Q0=15%

δf0/f0=0,94%
δQ0/Q0=23%

δf0/f0=01,17%
δQ0/Q0=31%

δf0/f0=1,41%
δQ0/Q0=39%

+0,5% δf0/f0=0,87%
δQ0/Q0=0

δf0/f0=1,13%
δQ0/Q0=8%

δf0/f0=1,38%
δQ0/Q0=15%

δf0/f0=1,63%
δQ0/Q0=23%

δf0/f0=1,86%
δQ0/Q0=31%

δf0/f0=2,1%
δQ0/Q0=39%

+1% δf0/f0=1,65%
δQ0/Q0=1%

δf0/f0=1,91%
δQ0/Q0=6%

δf0/f0=2,16%
δQ0/Q0=13%

δf0/f0=2,4%
δQ0/Q0=20%

δf0/f0=2,63%
δQ0/Q0=27%

δf0/f0=2,86%
δQ0/Q0=35%
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                  δε/εr2

  δe/λ0
0 2% 4% 6% 8% 10%

0 δf0/f0=0
δQ0/Q0=0

δf0/f0=0,15%
δQ0/Q0=4%

δf0/f0=0,29%
δQ0/Q0=7%

δf0/f0=0,43%
δQ0/Q0=11%

δf0/f0=0,57%
δQ0/Q0=15%

δf0/f0=0,7%
δQ0/Q0=19%

+0,1% δf0/f0=0,18%
δQ0/Q0=0

δf0/f0=0,33%
δQ0/Q0=4%

δf0/f0=0,47%
δQ0/Q0=7%

δf0/f0=0,61%
δQ0/Q0=11%

δf0/f0=0,75%
δQ0/Q0=15%

δf0/f0=0,88%
δQ0/Q0=18%

+0,5% δf0/f0=0,88%
δQ0/Q0=-1%

δf0/f0=1,03%
δQ0/Q0=2%

δf0/f0=1,17%
δQ0/Q0=6%

δf0/f0=1,31%
δQ0/Q0=9%

δf0/f0=1,45%
δQ0/Q0=12%

δf0/f0=1,58%
δQ0/Q0=15%

+1% δf0/f0=1,75%
δQ0/Q0=-4%

δf0/f0=1,9%
δQ0/Q0=-1%

δf0/f0=2,04%
δQ0/Q0=2%

δf0/f0=2,19%
δQ0/Q0=5%

δf0/f0=2,32%
δQ0/Q0=8%

δf0/f0=2,46%
δQ0/Q0=10%
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Représentation Loi d'éclairement 
l=a ou b 

Angle d'ouverture  
à 3dB (°) 

Niveau du premier 
lobe secondaire 

(dB) 
Facteur de gain 

0

0.2

0.4

0.6

0.8

1

1.2

 

Uniforme 50,8
$

λ
 -13,2 1 

0

0.2

0.4

0.6

0.8

1

1.2

 

cos(�x/l) 68,8
$

λ
 -23 0,811 

0

0.2

0.4

0.6

0.8

1

1.2

 

cos2(�x/l) 83,2
$

λ
 -32 0,667 

0

0.2

0.4

0.6

0.8

1

1.2

 

$
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Permittivité relative Premier mode Second mode �f Shift

0 4.35 GHz 7.4 GHz 3.05 GHz 0
2,33 4,2 GHz 7.4 GHz 3.2 GHz 150 MHz
3,2 4,1GHz 7.4 GHz 3.3GHz 250 MHz
6,2 3.8 GHz 7.4 GHz 3.6 GHz 550 MHz
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L=l=480 mm ou L=l=400 mm

Hauteurs
50 mm 50 mm

mono source

•Dimensions ou géométrie:

•Excitations:
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480 mm Lobes 
-20° +20° 

Lobes 
20° 110° & 250° 

340° 
Rayonnement arrière 

1 source -4 < -20 -19 
Carrée 

4 sources -4 < -20 -19 
1 source -4 -19 < -20 

Ronde 
4 sources -5 < -20 < -20 

     

400 mm Lobes 
-20° +20° 

Lobes 
20° 110° & 250° 

340° 
Rayonnement arrière 

1 source -4 -18 -18 
Carrée 

4 sources -3 -16 -16 
1 source -6 -19 < -20 

Ronde 
4 sources -5 -16 < -20 
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Position en mm fréq 1 (MHz)

Variation par rapport
à la fréquence

sans perturbation 
(MHz)

Pourcentage fréq 2 (MHz) Variation (MHz) Pourcentage delta (MHz)

10 947 2,5 0,264690312 1698 -45,5 -2,609693146 751
20 942 -2,5 -0,264690312 1640 -103,5 -5,936334958 698
30 931,7 -12,8 -1,355214399 1617 -126,5 -7,255520505 685,3
40 917,8 -26,7 -2,826892536 1619 -124,5 -7,140808718 701,2
50 903 -41,5 -4,393859185 1646 -97,5 -5,592199599 743
60 889 -55,5 -5,876124934 1688 -55,5 -3,183252079 799
70 879 -65,5 -6,934886183 1728 -15,5 -0,889016346 849
80 874 -70,5 -7,464266808 1748 4,5 0,25810152 874
90 873 -71,5 -7,570142933 1730 -13,5 -0,77430456 857

100 876 -68,5 -7,252514558 1690 -53,5 -3,068540293 814
110 884 -60,5 -6,405505558 1648 -95,5 -5,477487812 764
120 896 -48,5 -5,134992059 1620 -123,5 -7,083452825 724
130 910 -34,5 -3,65272631 1616 -127,5 -7,312876398 706
140 925,7 -18,8 -1,990471149 1643 -100,5 -5,764267278 717,3
150 938,6 -5,9 -0,624669137 1694 -49,5 -2,839116719 755,4
160 945,5 1 0,105876125 1740 -3,5 -0,200745627 794,5 �
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epsilon fréq 1 (MHz)
Variation par rapport

à la fréquence
sans perturbation (MHz)

Pourcentage fréq 2 (MHz) Variation (MHz) Pourcentage delta (MHz)

1 944,5 0 0 1743,5 0 0 799
2 929,7 -14,8 -1,566966649 1744,5 1 0,057355893 814,8
3 914,8 -29,7 -3,144520911 1745,5 2 0,114711787 830,7
4 901 -43,5 -4,605611435 1746,5 3 0,17206768 845,5
5 887 -57,5 -6,087877184 1747,5 4 0,229423573 860,5
6 874 -70,5 -7,464266808 1748,5 5 0,286779467 874,5
7 861 -83,5 -8,840656432 1749,5 6 0,34413536 888,5
8 849,5 -95 -10,05823187 1750 6,5 0,372813307 900,5
9 837,6 -106,9 -11,31815776 1752 8,5 0,487525093 914,4
10 825,7 -118,8 -12,57808364 1753 9,5 0,544880987 927,3
11 814,8 -129,7 -13,7321334 1754,4 10,9 0,625179237 939,6
12 803,9 -140,6 -14,88618317 1755,4 11,9 0,68253513 951,5
13 793 -151,5 -16,04023293 1756,4 12,9 0,739891024 963,4 �
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Epaisseur fréq 1 (MHz)
Variation par rapport

à la fréquence
sans perturbation (MHz)

Pourcentage fréq 2 (MHz) Variation (MHz) Pourcentage delta (MHz)

0,5 931,68 -12,82 -1,357331922 1744,55 1,05 0,060223688 812,87
1 919,8 -24,7 -2,615140286 1745,5 2 0,114711787 825,7

1,5 907,9 -36,6 -3,875066173 1746,5 3 0,17206768 838,6
2 896 -48,5 -5,134992059 1746,5 3 0,17206768 850,5

2,5 885 -59,5 -6,299629434 1747,5 4 0,229423573 862,5
3 874,2 -70,3 -7,443091583 1748,5 5 0,286779467 874,3

3,5 863 -81,5 -8,628904182 1749,5 6 0,34413536 886,5
4 853 -91,5 -9,687665431 1750 6,5 0,372813307 897

4,5 842,5 -102 -10,79936474 1751 7,5 0,4301692 908,5
5 833 -111,5 -11,80518793 1752 8,5 0,487525093 919 �
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